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) Negative @ Zem
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A metal wire has mass (0.4 +0.002) g, radius

(0.3+0.001) mm and length (5+0.02) cm. The

maximum possible percentage error in the
measurement of density will nearly be:

(1) 1.4% (2) 1.2%

(3) 13% (4) 1.6%

Light travels a distance x in time } in air and

10x In time II in another denser medium. What
is the critical angle for this medium?

104 i)
- =] | - o= | )
(1) smn [_"_ﬂ ] (2) smn .[ ;I!
(104, S
(3) sin '[ IEJ ()Msin t!k“—m'f:‘

An electric dipole is placed at an angle of 30°

with an electric field of intensity 2<10°NC!
It experiences a torque equal to 4 N m. Calculate
the magnitude of charge on the dipole, if the
dipole length is 2 cm.
(1) 2 mC (2)
(3) 6 mC (4)

8 mC
4 mC

Let a wire be suspended from the ceiling (rigid
support) and stretched by a weight B attached
at its free end. The longitudinal stress at any
point of cross-sectional area A of the wire,is :

(1) Zero (2) 2Wf4
(3) W/fA (4) W/

In hydrogen spectrum, the_shortest wavelength
in the Balmer series is 4. . The shortest
wavelength in the Bracket series is :

(1) 16x @ a2

(3) 4A 4 9%

The temperawre of a gas is =50° C. To what
temperature the gas should be heated so that the
rms speed 15“increased by 3 times?

(1) 223K (2) 669° C

(BIN3295° C (4) 3097 K

A football plaver is moving southward and
suddenly turns eastward with the same speed to
avoid an opponent. The force that acts on the
player while turning is :

(1) along south-west

(2) along eastward

(3) along northward

(4) along north-east
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ug uffeas aiC & zamE (0.4 +0.002) g, B

(03+0.001) mm @@ @& (5+0.02) cm %

o9 & " H #iusan gwa qfe e g
(1) 1.4% (2) 1.2%
(3) 1.3% (4) 1.6%

arg H W f §9E W x g adan S §uA s

H 0 @99 ¥ 10x g0 73 HTa0 ¥ g9 qrem # o
i B F &7

i 10 ¢ "IN
(1) sin ' —'] (2) sin ] a]
2 7
0 4 [
(3) sin” ! I IE] () e 1
(32 101, 4

us Aa faya M, 2.00°NC ! de % s A
& & WY 30%% Fv g @ T B3 'T{H'ﬁ

aren geaei 4 N m &) aft faya & evard 2

A 4 fatga wt sy b
) 2mC (2) 8 mC
(3) 06 mC (4 4 mC

HIA1 U a1 & el Ba (g8 anur) | deerdn T
& gud o fat 8 W s aiust dra a2

A I @1z Awe & art & e fag av s
yfaas &

(1) 94 (2) 2W/A

(3) W/4 (4)y wW/24

FIEETAA Wagn o, 4\t 4oil & SgEan aorde ),
b1 A%z 9ol @) =gAad qorde R

(1y 164 (2) 2A

(3) 4A (4) 9A

fredt frm &1 oo —-50° C %) fa & fee angere
% T fea ama BB gEd @t e q@ are |8 de

Th gz e w7
(1) 223 K (2) 669° C
(3) 3295° C (4)y 3097 K

U Feaid & faard) afgm R A s A ok
AT a0 | a9 & foo sraEE quE 9@ 8 g
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14 The ratio of frequencies of fun
harmonic produced by an open pqn

closed pipe h!\mgtlwmh\gthh
(1) 3:1
) 2:1 (4) 1:3 4

The angular acceleration of a body, moy
the circumference nf:cmdu.:h G
(1) along the axis of rotanon

(2) along the radius, away from centre
(3) along the radius towands the centre
(4) along the tangent to its position

Given below are two statements: :

Stll:-:lt[ Mmﬂmcdwm

Statement I1 : Zener diode is designs oper

mﬂumbmmhut&uﬁi’
In the light of the above S

(1) mmllmmbi Stat
is correct. 1-
(2) MWIHIJ'

.. e

) IE'Z".*'- Sta

=y —F : Lone U
& §£ -dS=0 over a suriace, then;

__-L'i ._:l.__ |

(1) the electric field inside,thefsu

necessarily ur . T“' A

(2] Ilrf!"'_‘i_“-"-f

luvmgn:.

@ 132
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1) F@ 1@ hﬁmuaﬁ 4
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N

the inductance L is
and resistance R

In a series LCR circuit,

10 mH, capacitance (' is | pF

is 100€2, The frequency at which resonance
occurs 1s :

(1) 1.59 kHz (2) 15.9 rad/s

(3y 159 kHz (4) 1.59 rad/s

The magnitude and direction of the current in
the following circuit is

IOV 5V

20 | | 102
A AAAA— | = | A B
D AAAA (&
70

(1) 1.5 A from B to A through E
(2) D 2 A from B to A through £
(3) 0. 5 A from A o B through £
(4) q A from A to B through E

The minimum wavelength of X-rays produced
by an electron accelerated through a potential
difference of ¥ volts is proportional to:

(1 v (2) v

l |
(3) 7 (4)

W

The errors in the measurement which ange due
to unpredictable fluctuations in temperature and
voltage supply are :

(1) Random errors

(2) Instrumental errors

(3) Personal errors

(4) Least count errors

For Young's double skt eXperiment,
statements are given bélows

Statement I : If screen 8 moyed away from the
plane of slits, angtilar geparation of the fringes
remains constant.

Statement U : If thesmonochromatic source is
replaced by another monochromatic source of
larger wavelength. the angular separation of
fringes decreascs.

In_thedlight'of the above statements, choose the
correct answer from the options given below:

lwo

C0L) O Statement 1 is false but Statement I1 s
true.

(2) Both Statement 1 and Statement Il are
lrue.

(3) Both Statement 1 and Statement 11 are
false.

(4) Statement 1 s true but Statement 11 is
false.
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% eitaz LCR 9fmyg 9 1% (L) 10 mH, i
(C) | pF am wfata (R) 100Q ¥ 7= 35
g & frafa 9 smgta &
(1) 1.59 kHz (2)
(3) 15.9 kHz (4)

15.9 rad/s
1.59 rad's

Frrafefag aftga & @ =1 ofam og fzsm 3

20, B0 MR
4 ——vWwww—i| = 1} AAAN— B
1) AAAA C
702

(1) 1.5A, Eq BI®RE B A% &1
(2) D2ACE AT BA A F v
(3) DSALER AR A8 B& AT

5 e e
(4) = AN HE®HT A 4 B & a0

o
Vategt % us fawenae & @fta faedl seee amo
SO X-TEToN @ gAam aonded sqEEeE ko

M 2 (2) v
|

—

J

A9 am Jeed '@ 2wyl A gsrg % s
Wﬁaﬁ'ﬂft:

(1) amfors Ffed

(2) T=ma iz

(3) =t gfeai

(4) regaaies Ffeai

an & farrh wam & fao $1 ®ue freag @
44 | : afz gl fafal & aa & g7 o b, @ e
& wvirg mdwm frga em 2

w4 11 ; afy vwacll = &) fesd gat aiftrs aordu
& UHav Hie A a5 A R, @ feea w5 i
qida wzan k)

IUE A & d@ed |, e B o fasen |8 wh
I G

(1) ®q 1 55 & 9= F44 11 5937 #)

(2) = i wy= 15 a7 11 59 ¥

(3) ==t wum | g = 11 s ¥

(4) =waa | 5w k ar= F41 11 5\ ¥y

(3) 11— (4)
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3t A deliet i fired from a gun at the spoad of | 28 Al wge A um N AR & 30° @ o g

© 280ms ! in the direction 30° above the T ® A 280 m s~ W @ A A and
~ horontal The maximum height attained by the ol o oa @ nd afrsen Fard ¥

" (e s8me snaer-as) (2=98m s, sin 30°=05) :
(1) 3000 m () 3’0 m (1) 3000 m (2) 2800 m

(3) N0 m (#) 1000 m (3) 2000 m (4) 1000 m

26 AGwe engine has an efficiency of S0% when | 56 i vom o) TR 0% X v TEE @Y @1 Ay
‘“k“‘t : LS 327° C ¥ oftem &1 qro & -
() 200°C ﬁ;rzrc (1) 200°C (2) 27°C
@) 1°C @) 100°C () 15°C (4) 100°C

7 wﬂ@whﬁmlmmu? wtﬁuﬁhmﬁmmwmwm
ﬂﬂmhtwmnw % foe sravas S B w0 W ¥ (F1gA & e
ension of sop solution = 0.03 N m™) & & @ = 0.03 Nm™) :

_ @) 30.16x10~) (1) 50. mo-ﬁ.l (2) 30.16%104)
0% (@ 301x10Y) 3) 5&\?‘ (4) 3.01x104)
: ‘ﬁll‘ﬂiﬂ:ﬁw substance is Wﬂﬂmﬁa{rﬂzﬂﬁqﬁhﬁﬁm

; _”’h'h’lrmlimt.ﬂ:mﬁ\ritynf

ﬂ"mﬁmﬁrmwt—%mﬁ
Qﬁmﬁmt?
} 1) 80 fire (2) 20 f=z

(3) 40 (4) 60 forz

29 FHhmRfEma e st Ut smza 2 em
wen s %) afX fwm & 8 om dfen W@, @ g

Hiea fafow st wnft -
(1) 16U ) 2U
(3) 4U (4) 8U

30 Pt uftaa 3§ weff frara @ qe i

3uF
3 ||
Ae --I | e H
iy 1
I B | -4 RUF
(DR9PS = 5 (2) 2pF

() 3pF @) 6pF
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31 A vehicle travels hall the distance with speed | 31 vm ama 2oh 20 am 0 & am 94 g0 9@ 20
f and the remaining distance with speed 20 7wty wmen ¥ A A A Yo
Its average specd s
30
] 30 , 1 (1) v (2) 3
: (= @ 3
210 40
3) 25 4 40 (3) =T (S === \
( 3 (4) 3 E
The ratio of radius of gyration of a solid sphere & :w‘ _ o Rﬁ i A mwﬁ al;
of mass M and radius R about its own axis to % fta: E['ft G m,a |
the radius of gyration of the thin hollow sphere AW e e 2 36 a7 B
J of same mass and radius about its axis is FTE %
(1) 5:2 2) 3:5 (1) 5:2 M 3:5
..'. 3) 5:3 S22z (3) S:QQ Ay =S
Two bodies of mass m and 9m are placed at a | 33 &\m FAfvEs szt 8 RO T
distance R. The gravitational potential on the T F1 e AT TEn 97, W eArd &4
line joining the bodies where the gravitational = e ferTS) -
field equals zero. will be (G = gravitational E g kER )
constant) : sy L
q = -D;:m 3 = EER}'m
20 Gm 8 Gim
(L) = R (2) - R \ >
! 12Gm 16 Gm
(3= 7 B3 = — B
12 Gm 16 G
S (4) -
( R F.'i
34 Fzimrh & T o
The venturi-meter works™on, : (1) waaa w&i % g o
(1) The principle_of | ;:_,_'_. ndicular axes O e
(2) Huygen's p I () =t fm T
(3) Bernoalli’s principle ;
(4) wE & & o o
iple of parallel axes
urce is connected to a capacitor C. Due SSIENTS A WY ™ 0% (C) ¥ st T ¥
clle [t : 5 )
rease in its operating frequency : L860 ‘Wqﬂ‘ T §
(1) capacitive reactance remains constant (1) wftdia afoem Fraa e b
capacitive reactance decreases. (2) afdra wiema sz ¥
(3) displacement current increases. (3) Fargm aro =z &
(4) displacement current decreases. (4) fegs g g=d ¥
G6_Hindi+English | 7 [ Contd...
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30" i R ergem vy # ) ok
wm W o wn b

M ama (D ops3A

() 1064 1) 1504

W & Ty = w0y 0°C 9T 20 am 80°C i

680 ¥ ot = iy o wrias R
() 3x10' e (2) 3x10eCH
(3) 303 eC! (@) 3x10-TeC!

‘;th“ (¥ &Mimﬁ!l;)i@ fomd wfvarm
: N

R \*

M 2) 10v20
Q @) 550

VY

B

(1) 4 B Y ()4 B Y

0 0 0 0 0 1

0 1 0 DRl )

=0 0 =0 1

| T L 0

(B3) 4 B Y 4 4 B Y

0 0 0 0 0 |

e TET ol 0

i’ 0 1 0 |

§ ey 1 1 0
sistance K are connecled | 40 0% ¥4 o R % 10 gfoell = £ faqa arew
emf £ and negligib &% 7a v grafE afry @ oo 34 % an
P ey e n B4 | WIg ¥ o % quA AN & @
o *":-f';‘-:'.;l' -""'"_‘ oo gt | Pl N | 91y AT b, @ ura g 'Th E w2
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LR fﬂ:‘m Woriw 015 @
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42 The x-f graph of a particle performing simple
harmonic motion 15 shown i the figure. The
ncceleration of the particle at ¢ -2

2518

2 2
p 11 .2 - | 3
= 2
¥
. o 4 A
(3) g ms (4) —=ms

43 A satellite is orbiting just above the surface of
the earth with period I It o 1s the density of the
! earth and G 1s the universal constant of

gravilation, the quantity % represents
(1) 1 2 T
@) 12 @) 7

A very long conducting wire is bent in a semi-
circular shape from A to B as shown in figure.
The magnetic field at pownt / for steady current
configuration 15 given by ¢

| e
_____ } I"!
R
!l
{_
————— =S¢ B

(1 ?E‘["i] pointed intg the pag
)

iR pointed into
(3) Lo pnintc@‘mm the page

aR
= pénted away from page

shown here, what is the equivalent
ol the combination ot lenses

Rl = HE = 20 cm

(2) 40 cm

(1) - 50 em
(4y - 100 cm

(3) —40 em

42 wrA gk nfx wvA g R w5 % o TE foa A
m o rm Y (=2 T wm A

| F—=
I
.cl’mjl’/-:.\"" ?
|22 N2
=1 =

I
5) 3

43

gAET AET § SE T k) o oarm

I —

-—- St A

P
I =

_____ _{ H
(1) i—"’[ -=| @ ¥ W=T B &I
(2) ﬁ‘iﬁaﬁmmm

4R
W By 5
(3) ﬁﬂaamﬂaﬁ

Y} 2 5
(4) ﬁ[";]ﬁﬁﬂmﬁﬂh

45 Pram m fam 9, @69 $ @6 8 R e 10
w1 ¥ (9 oE Tae qEST) 2




4  Two thin donses are of same focal lengths (. | 46 0% v www gl (/) & o waw &6 K, fieg o

bt one is convex and the other one is concave. 2

Whn they are placed in contact With cach other. :';; ET;W’““";'“;E{Q :ﬁm g

the oquivalent focal length of the combination - ™ |

will be (1) orfa 2) =™

(1) Infinite () Zero 3) f/4 ) f/2

@ 7 @ 7R 47 L warg % us ae o [ Ut x-aE B ueArEaE fren
47 A wire camying a current [ along the positive | . ¥ sftw wafkm okh R @ uE gEEa 8

a-axis has length L. It is kept in a magnetic field
Etuha}—;i; T. The magnitude of the

—

B=(2i+3)-4k) T ¥ Ten wen ¥ art 9z Frdva
BT W & qiE o

magnetic foroe acting on the wire is :
n S Q) 31 () B (2) 3IL
G S @) S (B) s (4)( SAL

48 A bullet from a gun is fired on a rectangular 43 mﬂqﬁ%mﬁmmﬁﬁu
wooden block with velocity u. When bullet A | T AR ¥ Lo e 1zd H dfow R 7 24
travels 24 cm through the block along its length -
e velkociy of bullet L cm gd R &, e B A < # S k)@ ww g

“F*n WL %4 § g4 @& o6 fawn § we @ S gl wae

it further penetrates into the block in the same T e 31 TR B et &
direction before coming 10 rest exactly at the | ¥ ‘
other end of the block. The total length of the (N 30 cm (2) 27 cm
block is : (3) 24 cm (4) 28 c¢m
(1) 30 em (2) 27 cm C f
G) 24 cm () 28 cm 9 Us Agn foyw faw A weifa ¥ e % @ n fasg

P a7 faga fana (102 V #) # (=% snae &
49  Anclectric dipole is placed as shown in the figure. l
5 cm p | Agasieran am =K) :

5 in e,
- - - L]
L . 5 cm
q{zm }igm >+q 0 P
The electric potential (in 102 V) at point P due <5 ;{ ;+' e
10 the dipole is (€y=permittivity of free space IS Sem - Semict 1
1
and =K
e 8 (3
8 wt, (2) () [‘i]"“ ) EJQ"
o Glxy [0 (3)* ,, 3
\P Qe (B
(4) h_%'cllﬁ ) L)
: bridge is built across a river, A S0 u% 7 9 o &fton g W T k) g o @
standing on the bridge throws a small U% BE 4ms! ¥ M A B BA Az seaiutd
vertically upwards with a velocity 4ms™'. T B S %wen ¥ 4 s A Wy orfy A g @
The ball strikes the water surface afier 4s. The Zw0dl ¥ ot @ wew d sy g B Fard P
height of bridge above water surface is 4
Tak ,_i'lﬂlli'q): {E-Iﬂm: Ih‘ﬁ’qu)-.
) 681 (2) 56m (1) 68m (2) 56m
(4) 64m (3) 60m (4) 64m
] % 3 10 | Contd...



Chemistry : Section-A (Q. No. 051 to 085)

&1  Taking stability as the factor, which one of the
following represents correct relationship?
(1) TH =Tl (2) TICI, = TICI
(3) Inly = Inl (4) AICI = AICI,

&2  Identify the product in the following reaction :

i,
N2 Cl

O
5
E -

(4) \
The given compound 6

CHFCH—LH CH, CH,

IS an example o
(1) vinylic ha "} btnnlu: halide
(3) aryl halide 4) allyhic halide

1
: M .
*rT extract of an organic compound,

liteogen and sulphur are present, which
3* due to the

(1) Cu EBII {HBr
(1) Mg/dry cther

(1) H,0

» Product

OH

(2) Fe,[Fe(CN), ], xH0
(3) NaSCN
(4) [Fe(cN),Nos|"

G6_Hindi+English |

51

52

53

11

o= %1 #17% 73 §u, Feiaiea 4 8 #F-9 'h

oqq orF TN k7
Previrfir afsisa 4 s &1 avaP) \

(1) Tl > Til,

(2) TICL > TICI

(3) Inly > Inl (4) AICI > AICI;

o
N2Cl

(i) CuyBry /HBr

(ii) M;f_q-'h'r

Sq=
(ili) HyO @0

OH
(2)
MgBr
(4)
fern T s
CH=CH - CH - CH, CH,

|
X

@ Us Emm R
(1) mﬁﬁﬁtﬂm (2) #F=afes demgs
(3) oftw kemgs (4) tUfwiws temws

fre diftres & &9 Fresd 9 Amggiom ol geet 21
aufiga ¥ @ Fe'* & wma Prafafaa & o=+ & &1
@ ® wita & T E ok

(1) [Fe(seN)]™

(2) F:_.[F:[CHL]J-HH 0
(3) NaSCN

(4) [Fe(CN); Hf.}s]"
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 [owo, 1

£ ca0-co, |
M 1323 @) 112g
©G) 176g (4) 264g

ﬂ muﬂhuunm

@ Assertion A and the ather is labelled as
Reason R

Assprtion A : A reachon can have rero activation
onerd.

Ressons R : The minimum extra amount of

enery absorbed by reactant molecules so that

‘their encry bocomes oqual 10 threshold value,

is called activation encrgy.

In the hght of the above statements, choose the

‘correct answer from the options given below :

{1) A is false but R is true. |

(2) Both A and R are true and R is the correct
‘explanation of A.

LE}) Both A and R are true and R is NOT the
‘correct explanation of A.

{4) A 1strue but R is false.

Iﬂmﬁtﬁ:mu{{:ﬂ:wm
1 -d'ﬂl-m

L

| Mzﬂld‘m“m“'

-“'—*

i mﬂmm ane iz labellad | &g

356

A9 2 wyw g g X um B afesE A ol g

® ‘v R fufea fsa v k)

s A : Rl aifwfe & a0 afwaw sl g

wad k)

= R afmwes sl o sEmaite g

st sl & wrsn e sadh st 2ed arn s

" B W, whsae mal swerd )

ST fm o syl & anurt at, A TR o fagen

ﬁﬁﬂﬂm!ﬁﬂ,

(1) A wgqd, gig R 59 ¥

(2) A3 Rz 51 ¥ ot R, A & 5l ane
L1

(3) Aahnﬁﬁrmt 9 R, A &1 wél are

TH & \
4) Aﬂﬁ@m ]
8o

Zﬁ%aﬂwgm#mgm’rmaﬂﬁ H 39—
Cﬂli 1 % foo wh fameg ® : (Ca &1 g9
10 %))

M} Caﬂ+Cﬂ1}

() 1.12¢g
(4) 264

CaCo,
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(@) A-l1L, B-1, C-1V, DA

Giiven below are two statements 5%

Statement | : A unit formed by the attachment

of a base 10 1' position of sugar 15 known as
nucleoside

Statement 1l : When nucleoside is linked 1o

phosphorous acid at 5 -position of sugar moiety.
we get nucleotide.

In the light of the above statements, choose the
correct answer from the options given below :

(1) Statement [ s false but Statement I1 is true.
(2) Both Statement I and Statement 1 are true.
(3) Both Statement I and Statement I1 are false
(4) Statement 1 is true but Statement I1 is false.

A compound is formed by two elements A and
B. The element B forms cubic close packed
structure and atoms of A occupy /3 of
tetrahedral voids. If the formula of the compound
is A B, then the value of x + ¥ is in option

(2 ) 5
(3) 4 (4) 3

The stability of Cu®" is more than Cu” salts irﬁ
aqueous solution due to - \
(1) second ionisation enthalpy.

(2) first iomsation enthalpy.

(3) enthalpy of atomization.

(4) hydration energy A

Match List - 1 with List - Ty

List - 1
A. Coke
@ sp” hybridised.

B. Diamond Il. Used as a dny
lubricant

Il. Used as a
reducing agent
Cage hke

List - 11
E arbon atoms are

C.

raphite IV,
molecules

Choose the correct answer from the options

given below :

(1) A-lL, B-1V, C-1, D-1l

(2) A-ll, B-1V, C-1, D-llI

(3) A-1V, B-l, C-11, D-1lI

6l

4 = omaa oo B

A | :Fa s 5 ET A | i g AEA A
fafda rart =1 fearaes w5A )

I1 s== %

& -

U Bz 0 k3 313 B

g ST T E AT A S A
3 &F T % o ¥ Tz drs = g

571 5§ X+ v B 94 B
(2)
4 (+)

Wed LAy

#aE fasa § Co’” 73w =1 =g Cu™ #7=en
H wius r=tAtea  s0m g b

(1) Tadm W o==a

(2) wog sEss o=

(3) ® v

(4) w=Gra= =41

-1 & - 1% 5 &ae $irao)

-1 - 11
A, BB L & g
sp':ﬂiﬁﬂﬁﬁtl
B. #m 1. = F£% ¥ 59
J 3uam fEar amn k)
C. waiH [1l. ¥9=Es & Wi
Iuam fEan wwa k)
D. w5z V. fanga e

4" o o fawed 8 | wA a9t gl
(1Y A-ll, B-1V. C-1, D-ll
(2) A-l, B-1V, C-1, D-I
(3) A-IV, B-1. C-ll, D-111
(4)  A-llL, B-1, C-1V. D-lI
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Given below are two statements © one is labelled
as Assertion A and the other s labelled as
Reason R

Am'ﬁul A : Helium is used to dilute oxygen

m dn K.

mwmm has high solubility in O,.

In the light of the above statements, choose the

correct answer from the options given below :

(1) A s false but R s true.

() Euth A mﬂ R'_:rt true and R is the cormect
of A

(3) Bc-thhmd!tmmma.ndﬂls NOT the
correct explanation of A,
(4) A s true but R s false.

Some tranquilizers are histed below. Which one
from the following belongs to barbiturates?
(1) Veronal (2) Chlordiazepoxide
(3) Meprobamate (4) Valium

Which of the following statements are NOT
correct?

Hydrogen 1s used to reduce heavy metal
oxides to metals.

Heavy water is used to study reaction
mechanism.

Hydrogen 15 used to make saturated fats
from oils.

The H-H bond dissociation enthalpy is
lowest as compared to a single bond
berween two atoms of any element.
Hydrogen reduces oxides of metals that are
more active than iron.

Choose the most appropriate answer from the
options given below :
(1) A.B.C only
(3) B, D only

B P >

E

(2) B, C, D/E only
(4) D, Eonly

Fm'lmh:rnﬂim,ﬂtm=k[ﬁ]z[l!].wh=ﬂ
the initial concentration of A is tripled keeping
concentration of B constant, the initial rate would
(1) innuuhytﬁﬂurﬂfthrec.

(2) decrease by a factor of nine.

(3) mi:lﬂs:hy factor of six.

(4) mhju factor of nine,

Wh::iﬁone is an example of heterogenous

(*Ii}{.. Eum’hmmon between dinitrogen and
dihydrogen to form ammonia in the

of finely divided iron.

Oxidation of sulphur dioxide into sulphur

trioxide in the presence of oxides of nitrogen.

(3) Hydrolysis of sugar catalysed by H* ions.

(4) Decomposition of ozone in presence of
nitrogen monoxide

L3

14

6l

65

A 2 wua fe oo ¥ s s Cafima AT s
® s R’ fufea B wan b

s A : mMar@l & suwmon o Afean o

anaiiaa & & foo gua B snan @

s R : 8w & O, 8 g fastaa eid o

ST Ru mu sy B sy ag, DR oo faa

¥ § wh sar gi

(1) A 9&d ? uig R 1q ¥

(2) AT R 2 5 ¥ ot R, A & 581 A
4

[3} A G'fn R E"Fﬁ q4 !:‘-'- qiq R.A ] °HE e

cal g

(4) A ®a % 9g R o\ 1

A Fo qaiTs garaa o o ¥ s E @
afdegiea | wafta & 7

(1) a0 2)  #ATIETSAUTHATS
(3) HuEEz (4) aftram

Frfaflrad 5 | $9-9 HyA U
A.

B.

Cf I9gm A | g FHIA H A0
foro foea wmen #
& & AT & AT Umhe sl

| H-H amau fgaras lTi-J'Jn = Gl

D.

E. mﬁmmﬁm&nﬁﬁmmﬂ SR
HTFETEE H Aufad e )

4ra fau o fawedt § A waA segEn o dian

(1) @ A, B,C (2) &aa B. C. D. |

(3) ®am B, D (4) &Haa D. |

fed fafyre sfvien & foo,

i'p]' = k[A]IIB] tlﬁﬁl B ﬁ HiaEdl 1 T T
QA 31 Jriia |z i O S 8, o wriiie
g1 -

(1) &9 & TUis &0 96 ST
(2) % @ &TT 92 o
(3) ® & ToE A 4G A1
(4) = & TUIE ETQ FE SO

:Iﬁlﬁffh'ﬂ 4 4 - faaurft a@w a0 o

?

(1) wér gt s @) suftef & o o0
thmﬁmmwm & Ala Hdl

(2) 7z & SigaEEl @ sufafa 0 oo
ETSHTHATEE &1 TPHT ZIEATAFETES o w1l

(3) w&u & H* emA @ro s@fa s

(4) g AEEES #oaafafy o s
HYHZA
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Which one of the lollowing statements is
 correct’

{I} Mg plays roles in neuromuscular function
and interneuronal transmission.

The daily requirement of Mg and Ca in the
human body is estimated to be 0.2 -03 g
All enzymes that utilise ATP in phosphate
transfer require Ca as the cofactor.

The bone in human body 1s an inert and
unchanging substance.

2)
.r. (3)
)

Weight (g) of two moles of the organic
compound, which is obtained by heating sodium
ethanoate with sodium hydroxide in presence of

~ calcium oxide is :
(1) 18

(3) 32

(2) 16
(4) 30

The element expected to form largest ion to
achieve the nearest noble gas configuration is :
(1) Na 2) O
| (4) N

The correct order of energies of molecular
orbitals of N, molecule, is :

(1) ols<o  Is<g2s<o’ Esq(nzpt =

b - (“.pr ='}'|:'Ep.._)-:ﬂ'2p1 <o 2p
‘ (2) ols<o’ 151:.525-:13‘2“[ %{

a2p, < (n'zp! =

(3) ols<c’ls<o?

(n!p?‘:n ‘_),; 2 ‘=n'3|}}_]~:u' 2p,

2s<a 2s<alp, <

1) Triamminetriaquachromium (111) chlonde
(2) Potassium trioxalatoaluminate (111)

(3) Diamminechloridonitrito - N - platinum (1)
(4) Pentaamminecarbonatocobalt (1) chloride

G6_Hindi+English |

67 Frafatas 5001 9 9 - wh &7

(1) Mg #Aaraifazm q7i@a srEAgw«Ar vt
AATataEa T § qias Fravn ¥

g T 4 Mg A7 Ca %1 29% ArasgEal
0.2-03 g #aia &1 7 ¥

A9 TAET M BPeZ a8 ATP @i
g &1 &, F WU gr-a2m ¥ Bg a
HATTH B

qrg 7 | 5 UF AEG AT AT
aZ1d K|

(3)

(4)

¥fragn wraaEE # Iufgia 9 ®
Hieay FEEiadEs & HY
difrs ura g B, SHE.Z
(1) 18
(3) 32

69

% oo anfras F5H1 &1 FAIA & "0 BE

(1) ols<o’Is<o2s<a” 2s<(r2p ==2p, )<

P r:'lp}_)«:cr!p: <au2p;

i,

ogls<o Is<o2s<o -h-:ln:p\ :::Zp,h}t;

o 2p, -:{n:'lpl =Tl':p?_]f_ﬁ 2p.

(3)

L3 Ll
cls<o Is<ols<o 2s<o2p, -

(n:lp_\ = nip}_) -:(.':'."!

L]
cls<o Is<gl2s<o 2s<o2p, <

(4)

o 2p, < [n"p“-:":p} ( :

71 Pr=fafaa @ga o 9 smfes q@ga b

(1) zZrgosizEUamias (1) Fres
(2) wurefimm ez (101)

(3) sEosiFFfEAEdE - N - @fem (1)
(4) Y=rEiEEZEEEE (1) F#Es
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74

5

Intermolocular foroes are forces of attraction and
repulsion between interacting particles that will
include :

A.  dipole - dipole torces.

R dipole - wnduced dipole forces.
C. hvdrogen bonding.

D. covalent bonding.

E. dispersion forces.

Choose the most appropriate answer from the
options given below :

(1) A.C D, E are comrect.
(2) B, C, D, E are correct.
(3) A B, C, D are correct.
(4) A, B, C, E are comect.

The number of o bonds, m bonds and lone pair
of electrons in pyndine, respectively are :

(1) (2) 11,2, 0
(3) (4) 11,3, 1

L2l

— —

12,3, 0

Select the correct statements from the
following
A. Atoms of all elements are composed of two

fundamental particles.

B. The mass of the electron 1s
9.10939 = 103! kg,

C. All the isotopes of a given element show
same chemical properties.

D. Protons and electrons are collectively
known as nucleons.

E. Dalion’s atomic theory, regarded the atom

as an ultimate particle of matter.

Choose the correct answer from the options
given below :

(1) B, C and E only
(2) A, B and C only
(3) C, D and E only
(4) A and E only

G6_Hindi+English |
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73

74

16

stanonfas aw s BEm & e sl & g
Gll'ﬂ'ﬂiﬂ ﬁm ﬂﬁiﬁﬂm '?!i ﬂ | l'-nm T sy "t

v ko

A, faya - fiya am

B. fx-wa- i@ fx-ya aw
C.  wggiaa anaud

D. weadfl srEu

E. wanrH o«

A1 R o faee 9 8 wEa segem fawe gl
(1) A, C, D, Eafl ¥
(2) B, C. D, E sl ¥
(3) A, B, C, D=l %1
(4) A, B, C, Egfl ¥

i, o JEd, n odEdl AT gEER %
UEHE gl B @ HH, #
W) w12, 2, 1 (2) 11,2,0
3) 12,3,0 (4) 11,3, 1|
Frafafaa o |4 w6 s & gg=a @it
Yl Tl % TTH] &1 @ BN AT 4 R 7

B. zTol™ & Zega 9.10939 = 10
%

il L:. £l

C. & aa & o0 st qum varafis quas
wafdfa & ¥

D. Wi it seaREl &) @ga w0 8§ giad s+
&5d ¥

E. ®feza & qoam] foata 3 goav) &) zen & 49

%9 ¥ w9 § qr1)
A4 faw g Rredt F @ wh s gf
(1) &am B, C 3t E
(2) &a& A, B st C
(3) %awm C, D ol E
(4) #aw A ot E
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‘-.1?‘5 Identify product (A) in the following reaction

e O
. O

Zn-Hg
conc. HCI

CH,
CH,

. .r't.

+ EII-.U

Given below are two stat - oné is labelled
as Assertion A and rois labelled as
Reason R -

Assertion A @ / =-nFE__
of A G depends

Rﬂ!ﬂh! ccif®s an intensive property and
sive property.

val ue

f the above statements, choose the
nswer from the options given below :
is false but R is true.

oth A and R are true and R 1s the correct
explanation of A.

Both A and R are true and R is NOT the
correct explanation of A,

(4) A is true but R is false.

(3)

G6_Hindi+English |

75 frefafta afafsm 9 2z (A) B geafao

Q)

N

.r'ln H
'H'IE HC

(1)
Ol
(3)
OH
OH

Ol

1 0 tl::ll

CH
4 : T
(4) Clig @

‘ b CH,OH

76 a2 waa o oo ¥ s @ Caiewwa A s gET

# ‘Fr R’ fafea fem man )

HfwFma A @iw A G=-nFE, ® A G

a1 n 9t Pedr & b

B R @ Eg, wr-was e kst A G s

qraETiad o R

F¢ fau o Al & amary 9, A9 o o fame

%A #h 39t qf:

(1) A waa k utg R 5 &)

(2) A 3t R2M 5= ¥ ot R, A &) 56 amen
(4

(3) At R=F 5a ¥, wig R, A % & =
LY

(4) A 83t atg R ama &

<hl
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The relation between n_, (n_ = the number of
permissible values of magnetic quantum number
(m)) for a given value of azimuthal quantum
number (/). s

-1
(DEp,={+t2 () I:""‘z
(3) [=2n_+]I (4) n_=2%+]

The conductivity of centimolar solution of KCI
at 25°C 15 0.0210 ohm~! em~! and the resistance
of the cell containing the solution at 25°C is
60 ohm. The value of cell constant is -

(1) 334 cm! (2) 1.34 cm™!

(3) 3.28 cm™! (4) 126 cm™!

© Consider the following reaction and identify the
~ product (P).

BCH, - CH - CH - CH,
I I
CH, OH

3 — Methylbutan— 2

—HBr_, product (P)

-0l
CH;
(1) CH,~C~CH, By
Br
{2 CH,-C-CH,-CH,
{ITH] ®
(3) CH;CH=CH -CH,
(4) CHJ—CH—CI-I—~®
lI.‘H3 '
151 @Inwing molecules on

j0f\, prddtuces neoprene?

=C-CH=CH,
,C=CH-CH=CH,
(of

|
(3) H,C=C-CH=CH,

(4) H,C=CH-C=CH

6_Hindi+English |
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78

79

l D

81

farista Tz e () % A1 fEm oo O % feo
n, = (q%m #0179 "@em (m) % H9a 9 A
e % A gag b

(1y 'n>=I+2 (2) f="m_I
2

(3) I=2n_+1 (4) n_ =2"+I

25°C 71 KCl % dmmer faera

0.0210 ohm ! em! % & 25°C
g= =1 a0 60 ohm ¥ 3=
(1) 334 ecm™! (2) 134 c¢

(3) 328 cm™! (4) 26 cﬂ'

1 T T (P)

(2) CH;-C-CH, -CH,
!
CH,

(3) CH;CH=CH -CH,

(4) CH,-CH-CH-CH,
[ |
CH, Br

Prefafaa § 8 29 5 7gass 519 97 Hande
IS HOM 7
CH,

I
H,C =C-CH=CH,

H,C =CH - CH=CH,

Cl
I
H,C=C-CH=CH,

H,C=CH-C=CH

(1)
(2)

(3)
(4)
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£  Amoagst the following, the total number of
gpocies NOT having eight electrons around
contral atom in its outer most shell,
NH,. AICH,. BeCl,. CCl,, PCI
(1 (2) 3
(3) < 4 4

8% Amongst the given options which of the
following molecules / 1on acts as a Lewis acid?
(3) H,0 (4) BF;

&4  Given below are two statements : one 1s labelled
as Assertion A and the other s labelled as
Reason R :

Assertion A : Metallic sodium dissolves in hquid
ammonia giving a deep blue solution, which is
paramagnetic.
Reasons R : The deep blue solution 1s due to
the formation of amide.
In the ligcht of the above statements. choose the
correct answer from the options given below :
(1) A is false but R is true.
(2) Both A and R are true and R 15 the correct
explanation of A.
(3) Both A and R are true but R is NOT the
correct explanation of AL
(4) A is true but R is false,
BS  Which of the following reactions will NOT give
primary ami as the product?
(1) LiAlH
(1) Tﬂ-lz -m—r Product
5 CONH, B /KOH  Product
(o) LAATH 4
) CH.ON T Product
(1) LaAH
(4) EH,NE W‘k Product
G6_Hindi+English |
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X2

83

85

fyefinfta N A a9 olala A @@ dEm B g
qone] % AT wie N IEd Gl ol e geaz
T bR

NH,. f'ulnL'I_1I~ Il-:-:."l_,‘ cCl,, PCI,
(2) 3
(4) 4

(1) 1|
(3) 2

R o fameal ¥ A BT ] | ITUA FIH A )
ATF SEETT HTA & 7
(1) OH"
(3) H,0

(2) NH,
(4) BE4

#rd 21 Bua fao o B oE B wias A et g

& ‘s R’ fafea fear mn &

wivwaA A ;i @ifsge ga st 4 gase

TEL Alel @1 e @, W sEgasE e 2

9 R : mE Aren fawgq ougE & 94 & wr

e

ST (&0 M0 HYA] & AT 9T, A" 7@ oo jawen

ﬁﬁﬂ'ﬂﬁﬁ'{gﬁq:

(1) Aamdataig RAad 2

(2) Asit RaA 85a ¥ ot R, A &) &#1 =
4

(3) AT R 8 &, 9ig R, A &) &1 sl
T

(4) ATa ® 9ig R %87 |

mmﬁﬁﬁﬂmﬁa‘ﬂ[a # w9 H
wrafe e T & 7

| (D LiAlH,
(1) CH,CONH, —ertds saare
(2) CH;CONH, —22/KM | 0.

(3) CH.CN (D LiAIH,
: H0®
(4) CH3NC (1) LiAIH

(N0
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Chemistry : Section-B (0. No. 086 to 100)

86 Which of the following statements are

INCORRECT?

A. All the transition metals except scandium
form MO oxides which are ionic.

B. The  highest oxidation number
corresponding to the group number in
transition metal oxides is attained in Sc,0,
to Mn,0-. S

C. Basic character increases from V,0; to
V50, to V,0,.

D. V,0, dissolves in acids to give VO, salts.

E. CrO is basic but Cr,0; is amphoteric.

Choose the correct answer from the options

given below :

(1) Band C only (2) A and E only

(3) Band Donly (4) C and D only

87 Consider the following reaction :

ero (Y

Identify products A and B.

(1) A=

(2) A=

(3) A=

4) A=

hat “Traction of one edge centred octahedral
ad lies in one unit cell of fee?

(2)

@) — (4)

B |— pa]—

21

55

89

freafafers 9 A 228 593 aft T8 &7

A frmm F giafre o "@gm aEe MO
ATFaTeE A ¥ M At wa ¥

B. =gy v % 99 Teady AR Hedl HEET
41 ATFAEE 8 Scy,05 @ Mn, O, 7 9 -t
.4

C. V,0,8 V,0,8 V,0, # HT A4
e oo i 4

D. V,0, &= § g9 VO,
E. CrOarim & 7% Cry03

ﬁﬁﬂf?ﬂﬂvmqqﬂﬁﬂ?ﬁ
(1) maﬁrrf

= @— CH,OH 3t B = @— I
(4) A= @—L‘H:i‘. T B --Q—DH

Freafeftaa faseal 8 8§ S99 vA=0 qfrads s
HATE A1 9igas & 419 70 =549 b ?

(1) AH+ AU =AnR

(2) AH =AU - An RT

(3) AH =AU +An_RT

(4) AH - AU =-AnRT

foc & US U FINSH § UH &I Hiad A=FARE
Tt =1 A sigr Suftas g 27

===

(1) (2)

da | = 2=

(4)

I
=l
(3) 3
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90  Given below are two statements &

Statement 1 : The nutrient deficient water bodies
lead to cutrophication.

Statement 11 : Eutrophication leads to decrease
in the level of oxygen in the water bodies.

In the light of the above statements, choose the
correct answer from the options given below :
(1) Statement 1 is incorrect but Statement 11

1S true.

(2) Both Statement I and Statement 1l are true,
(3) Both Statement | and Statement 11 are
false.
(4) Statement 1 1s correct but Statement 11 15
false.
91 Which amongst the following will be most
readily dehydrated under acidic conditions ?
NO,
m )\/\|/
OH
NO, OH
Q) /'\/I\ Cil;
H
OH OH
3) “ﬁ)}li\)\
NO,
H
(4) )\\/\m
OH
92  Match List - I with List- II :
l..ut-l{ﬂ:uﬁd; List - [1 (Bonds)
of
A. Peroxo i . Two S-OH, Four 5=0,
ph i One S-0-5
B. Sulphuncacid [Il. Two S-OH, One $=0

Q@iﬁmtﬂnu Ml. Two S-OH, Four $=0,
One S-0-0-S

. Sulphurous acid IV. Two S-OH, Two S=0
the correct answer from the options
given below :

(1) A-lIL, B-1V, C-II, DI

(2) A-l, B-lII, C-II, D-IV

(3) A-lI, B-IV, C-1, D-II

(4) AL, B-IIl, C-1V, D-1I

e

22

90

91

92

419 7 wuA fo oo ¥

A | : o g oe Fraea | gaimon s
wA 11 gareer 8 o Pl 8 sradiior @
gzl ¥

T e o wuE % amur gv A o o fame)
§ o wh 3w g

(1) s 1 @@ & g 43 11 a3 ¢
(2) w1 3l w4A 1 <40 g ¥
(3) w9 1 ot F= 11 & swa 2
(4) ®q | 5 ¥ uig &1 11 swa #)

Prafafga o 8 9w ey ufthafgo A
aftrs e A Frtfea ®m ?
NQ,

L

-1 & gl - 11 & |y fgena st

T - 1 T - 11
(et & (wmEa)
HFN)
A. TFETETS- . 2 S-OH, 1t S=0
i (R e S-0-S
B. a7lgit® ¥ Il & S-OH, v& SO
C. msuaegi@d Il a1 S-OH, arr S-O.
s & S-0-0-S
D. @ (d &  IV. & S-OH, @1 S-0

A2 fo o Redl § A wh s gfo
(1) A-l, B-1V, C-11, D-I
(2) A-l, B-llI, C-I1, D-1V
(3) A-III, B-1V, C-1, D-1I
(4) A-l, B-IlI, C-1V, D-II
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93

94

95

Identify the major product obtained in the
following reaction :

0
z[ng_{mnl)z]' .
H '
0O
3 OH + major prm;iuu:l
OH
(2)
OH
COCY
&ml @iU\

COO™

Identify the final product [D] obtained in the
following sequence of reactions.

CH,CHO ':‘Ij{"“gj ,[1]—2—~=t_>” 04 5 [B]

J

Ma/dry ether

Br

(V]

%??Mllﬂn that does NOT take place in a
) furnace between 900 K to 1500 K

mperature range during extraction of iron is :
() CaO +Si0, - CaSiO,
(2) Fe,0, +CO — 2Fe0 + CO,
(3) FeO+CO - Fe + CO,
(4) C+CO, 200

G6_Hindi+English |
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93

94

fefafa afuizs o wra gea 3w &1 9w

()
+2[ Ag(NH,), |+
H ‘
0
3 OH A :
3 > HEa gy
OH O
(1) ()
O
COO
()
{4)
COx)

affEmars frafafaa 9 9 wra sifaw sar (D)

& gEATA
- - LaAlH H4
CH,CHO oo [A] 204, (]
Br
__HBr_ (€] M:n —— [D]

(1) HC=C® Na'

C,Hyy

AT % Frepuw 2o aEnm wZA | 900 K A
1500 K 918 & 49 w1 sfufea 36 & o e, ax
1

(1)
(2)
(3)
(4)

CaO + SiO,
Fe,0, + CO —» 2Fe0 + CO
FeO + CO
C +CO,

+ Casi0,

» Fe + {.‘{_]_,
— 200

| Contd...



96  Pumice stone 1s an example of -
(1) foam 2) sol
(3) gel (4) sohd sol

97  Which complex compound 1s most stable?

th
2)

3)
)

98 Consider the following compounds/species -

o), | (s0,),

Co(NHy), (H,0)8r (N ),
Co(NH,), (N0 |

:CuCl: (en }:] NO;

iv.

the species
are 2. 3. 10 and
300 K. AG® for the
3. (2) 1372.60 cal
(G) 13726l (4) - 1381.80 cal
] Hd _:‘ -'ﬁﬁ' m- reacti "un'
o, \ R A
s "..-'}-.1 +L 1..-'::1 é (ﬂ)—}
""."__ ____;] 1Ln 4 + £ HIO(E}
the '. ._* ients }. b and ;; : fﬂrllnd to be,
I .I -';h-._ i ‘:_,:' ”'rﬂ j'lt J.' A T
JEJ_} ”’H?, 5. g
v B

97

;::HI | ) N
Q= O

100

qftrg gt sEm
(1) ®W & (2) did &
(3) @ ® (4) S8 \id &1

W uge dfre wad sfts @ b
(1) :C{:-[HH j]ﬁ} (50,),

2) _(‘{:-(NHJL{Il:{}][]r]{ﬂﬂj]J
(3) :i':-:-(m'H?‘}E{HL‘I_1I }3}

(4) [CoCl,(en), |NO

98 fy=feitaa difra [ ®sieg 9t faare sifao:

RN ()

=

e

90 & 199 B 9Ed §19 g 9l | et
& HE E o

(1) 5 (2) 4

(3) 6 (4) 2

300 K qr siwfemr A+B=C + D o afisira &

ArTEEn Jigard Hask 2, 3, 10 3t 6 mol L' 21

FHfhfwa & fow AG® &: (R =2 cal / mol K)
(1) —13.73 cal (2) 1372.60 cal
(3) — 13726 cal (4) - 1381.80 cal

& T sEdad AHisal # @gfea & 9 1w
a, b &t c wAq: uTa TR ¥

a Crzﬂi' +b SD:’ (aq) +cH* (aq) —
+ 2
2a Cr** (aq) + bSO? (aq)+%{lzﬂ{f]

(1) 81,3 2 1,38
(3) 3,81 (4) 1,83
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Botany : Section-A (Q. No. 101 to 135)

Given below are two statements : One s labelled
as Assertion A and the other 15 labelled as
Reason B -

101

Assertion A : The first stage of gametophyte n
the life cycle of moss is protonema stage.
Reason R : Protonema develops directly from
spores produced in capsule.

In the light of the above statements, choose the
most appropriate answer from the options given
below :

(1) A is not correct but R is correct.

(2) Both A and R are correct and R s the
correct explanation of A.

Both A and R are correct but R 1s NOT the
correct explanation of A.

(3)

(4) A is correct but R is not correct

Cellulose does not form blue colour with lodine
because

(1
(2)
(3)
(4)

102

It breakes down when 1odine reacts with it
It 1s a disacchande.

It 1s a helical molecule.

It does not contain complex helices
hence cannot hold wodine molecule

103  Which micronutrient is requirg

water molecule during phe

(1) copper (
(3) molybdenum @gnuﬁium
104 Expressed Sequenge lacs (ESTs) refers to
1 ' 'mpg‘lunl expressed genes.
hat are expressed as RNA.
5 that are expressed as proteins.
whether

genes expressed  or

nexpressed.

¢ thickness of ozone in a column of air in the
atmosphere is measured in terms of

(1) Kilobase (2) Dobson units

(3) Decibels (4) Decameter

!
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101

102

103

104

105

Z5

4 2 T g ¥ - s Rowaes S A R Al
zA71 FTM R ®

frTarmE F43 A - 9E 4 gEaENg dda % B
WqY g U £ o

7 R : Ara] e 9 39 6 & ot

Al | qE A fasiEg B o

g B9 % faug |, 44 Fa ™
L2LAES ) (O]

n ™

(1) A oma % gt R 53 ¥
(2) AsimMREATga 2 st R, A

Hﬁﬂiﬁ% am fest dren 1 @
%émﬁmaﬁﬁmmmﬂ
ki

W ur UF EEA%EE £

3) Uk UB FEeidd A R

4) IH9 AfeA Fed T O e s v
® UFSHT A4 1@ HHA

g% HIA-H & UIE & A uHe HyEwv & A
AA W] & faavea & WY wmavas k0

(1) erEn (2) #Hrr=
(3) wifeetam (4)  Hrnfgmas

HE IFAET gE w7

(1) T8 weage s )

(2) =i A=, M s & =g 9 sives B
ki

(3) - =f dm. 1 WA & =u 8 afsrem Ba ¥

(4) qwf A @ @ A wirEzaa B § @ stee
GLAM G

amguvsd 9 47 F US W 4 AR B A @
e | Ao A k7
(1) Premas
(3) ZEma

(2) =TEHEa g
(4) FTFMT
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Given below are two statements : One 1s labelled

as Assertion A and the other is labelled as

Reason R ¢

Assertion A

gheohsis

Reason R : First ATP is used in converting

glucose into glucose-6-phosphate and second

ATP 1s used 1in conversion of fructose-6-

phosphate into fructose- 1 -6-diphosphate.

In the light of the above statements, choose the

correct answer from the options given below :

(1) A is false but R is true.

(2) Both A and R are true and R is the correct
explananion of A.

(3) Both A and R are true but R is NOT the
cormrect explanation of A.

(4) A is true but R is false.

106

ATP 1s used at two steps n

107 Upon exposure to UV radiation, DNA stained
with ethidium bromide will show

(1) Brnght orange colour

(2) Bnght red colour

(3) Bnght blue colour

(4) Bnght vellow colour

108 Among ‘The Evil Quartet’, which one is
considered the most important cause driving
extinction of species?

(1) Co-extinctions

(2) Habntat loss and fragmentation

(3) Over exploitation for economic gain

(4) Alien species invasions

109 Which of the following stages of meiosis
involves division of centromere?
(1) Telophase (2) Metaphase |
(3) Metaphase 11 -~ (4) Anaphase Il

110 Which hormone promotes internode/petiole
elongation in deep water rice?

(1) 2,4D (2) GA,
ineti (4) Ethylene

1 of recombination between gene pairs
: \m same chromosome as a measure of the
Q distance between genes to map their position on
J chromosome, was used for the first time by
(1) Henking
(2) Thomas Hunmt Morgan
(3) Sutton and Boveri
(4) Alfred Stunevant

G6_Hindi+English |

106

107

108

109

110

111

919 @ wuw A ¥ ud ReEEEE FaA AL gy,
THT &M R®:

fyrarrs wuR A regsifaitE J T s o
2 g o v |

R : geet o @1 auEhn e Bl Oesi g
sz o qitads & foro gren & ol qEL UAm g
I HEIE-6-Fhe ® WA TH-1-6-51

SR 1

gftedw & o glar B

SedE HuAl & wend A, A R faswed 08

I g

(1) A ym@ ¥ gtg R &4 1

{3} A'ﬂ-{ Hﬁ Hd i \'}ﬁT R‘ A rﬁt HE =mam
]

{3] A Gﬂ-{ Rﬁ qed ?—f tl'ﬁl R. A ".IiT HET =am
TE ¥

(4) A wmtatg R 3w #)

ofufeas g@mge &0 (e Soa.o. & g 41 fafsm
¥ HAgd & 9 dan fearr 2

(1) au@ren Jreh

(2) au@En @ T

(3) =EaEn Aren 1

(4) aqdien 9 1

ufaw Farez (afre ages) ¥ 8 fea anfy faas &
HaH 9EAYY HIO HET AT &7

(1) w&-faeaan

(2) ™ & T fawss

(3) anit® @™ & fora arfacies

(4) Fazsh anfol &1 amemo

frefafd 3 8 HuFE e &1 @ wraen |
A fag & fawra onfue ® 7

(1) =g (2) wegraee |

(3) wearEen (4) wgyargen ||

TEL T AT 919 o, -G T 9d/ga & e
% T &7

(1) 2, 4-# (2) GA,
(3) I (4) ufteis
% # A 9T oA gl & A N A

ﬁmthﬁ{hiﬁqﬁmfﬁf UG ERRE
ﬂ?ﬂﬂﬁlmﬂmﬂmﬂﬂﬂﬁumn.mu*
q1 ¢

(1) ¥&n

(2) 9w® €2 "M

(3) weA ol #AH

(4) b W= ‘
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How many ATP and NADPH,, are required for
the synthesis of one molecule of Glucose during
Calvin cycle?

(1) 18 ATP and 16 NADPH,

(2) 12 ATP and 12 NADPH,

(3) 18 ATP and 12 NADPH,

(4) 12 ATP and 16 NADPH,

What is the role of RNA polymerase 11l in the

process of transcription in Eukaryotes?

(1) Transcription of only snRNAs

(2) Transcription of rRNAs (28S,
5.85)

(3) Transcription of tRNA,

(4)

snRNA

Transcription of precursor of mRNA
Family Fabaceae differs from Solanaceae and
Liliaceae. With respect to the stamens. pick out
the characteristics specific to family Fabaceae
but not found in Solanaceae or Liliaceae.
(1) Epiphyllous and Dithecous anthers
(2) Diadelphous and Dithecous anthers
(3) Polyadelphous and epipetalous stamens
(4) Monoadelphous and Monothecous anthers

The process of appearance of recombination
nodules occurs at which sub stage of prophase
I in meiosis?

(1) Diakinesis
(3) Pachytene

12

113

185 and

5srRNA and

114

115

2) Zygotene
(4) Diplotene

116

In the equation

GPP - R = NPP|
GPP is Gross Primary Produ

NPP is Net Primary Prod@ttiy
R here is :
(1) Reproductive alfagatia

(2) FhE}IDS} nthetigali
(3)

(2) 680 nm
(4) 660 nm

Mhequivocal proof that DNA s the genetic
aterial was first proposed by

(1) Wilkins and Franklin

(2) Frederick Griffith

(3) Alfred Hershey and Martha Chase

(4) Avery, Macleoid and McCarthy

G6_Hindi+English | 27

S
he

112 #fe a3 % A0 # § 0% o9 B | &
o PEat ATP &t NADPH, &1 srasasdl #rdl
4
(1)
(2)
(3)
(4)

gEfdZ § HAEa B TEd § HuA0
qifes A 111 &1 @1 yigs 51 &7
(1) ﬁ?ﬂﬁxnﬂ‘inum yﬂ"ﬂnﬂ

(2)
(3)
(4)

HAH B, mémm

|8 ATP #frt 16 NADPH,
12 ATP T 12 NADPH,
|8 ATP &7 12 NADPH,
12 ATP &t 16 NADPH,

113

tRNA, 5 hrR‘w'-. SI'TT
mRNA & qoimrs %1

114

fawro | qataen | i &8 wEen § 3@
1 et 29 s K 7

(LR G E (2) gmyzz

) HEYZZ (4) fawzz
116 Fefafag adw |
[GPP_— R = NPP|

MA@ aiE mafas saEw 2
A f. G2 wafas FaEsa ¥
T (R) & &7
(1) w11 dEzA
(2) wayEgEd "igyg farmTm
(3) a8 TME
(4) gam= wifa
117 9w\ 1l § sisfEm $= & s@amae im e g1
B B 7
(1) 780 nm
(3) 700 nm

680 nm
660 nm

(2)
(4)

118 #iud.u spqafis qzid ¥ sua fasagm gam &
uEE T femn w7

(1) fafsr=r st Safes

(2) wEhs iy

(3) w=hs ¥ st wui a

(4) vddl, dfamangs T dmEd
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120

121

Spraving of which of the following
phytohormone on juvenile comifers helps
hastening the matunty period, that leads to early
seed production?

(1) Abscisic Acwd

(2) Indole-3-bunnc Acid

(3) Gibberelhic Acd

(4) Zeatin

What is the function of tassels in the com cob?
(1) To protect seeds

(2) To amract insects

(3) To trap pollen grains

(4) To disperse pollen grains

During the purification process for recombinant
DNA technologyv, addition of chilled ethanol
precipitates out

(1) Polvsacchandes (2) RNA

(3) DNA (4) Histones

In angiosperm, the haploid, diploid and triploid
structures of a fertilized embrvo sac sequentially
are :

(1) Synergids, antipodals and Polar nuclei
(2) Synergids. Primary endosperm nucleus and
zygote

Antipodals. synergids, and primary
endosperm nucleus

Synergids, Zygote and Primary endosperm
nucleus

(3)

(4)

Large, colourful, fragrant flowers with nectar
are seen in:

(1) wind pollinated plants
(2) insect pollinated plants
(3) bird pollinated plants
(4) “bat pollinated plants

124 In tissue culture experiments, leaf mesophyll
~ cells are put in a culture medium to form callus.
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" This phenomenon may be called as :

(1) Senescence
(2) Differentiation
(3) DedifTerentiation
(4) Development

1Y

120

121

122

123

124

fpg QrE BTONA @) aov SpETh qEd g foeg,
A oo qfuaaan oiw on Sl & Rra s g
dn IaEd B 87

(1) uaiifts ar

(2) ¥Em-3-sgzEfits o

(3) Fasrtfers anst

(4) Pafe

HH A § HEA (3He) &1 ®O FE war ¥
(1) &= & e HE

(2) *A BN e HEN

(3) 9ITEO B THSI

(4) TrTEen @ feTE

qAaiTe $1.0A.0. ddA1S AT wina & s
sivae gAeTe 6 aradita &tar ¢

(1) YTeraHTss (2) A

(3) froqo (4) fewm

Fgadasl qredt ¥ us ffaa yumm & osfo

farfora ot Brrfrra wand @man @@ 2

(1) wem ®ifyed, s wifimE o gds
hah

(2) wem HIYEHE, waftes Yo &za 37 o

(3) witersm @i, sem Sifdema o i
YU S

(4) wew™ BYSE, graea ot wafas goray s

48, TIH, FrUga aar 96ie g Wg 90 66
W A HEd £ 7

(1) =g 9uia gy

(2) @z qiE 9=y

(3) weh gfig gy

(4) wwmEs gai[ ey

Fa% HAUA WA A 9l gugias aifd@a s U7
HadA gt qres § &ew g9 § foro @y A |0
A B T FEN A GHAT £ 7

(1) wraem

(2) favea

(3) ffiea

(4) gftad=
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125 Given below are two statements ¢

Statement | : The forces generated by

transpiration can lift a xylem-sized column of

waler over 130 meters height.

Statement 11 ; Transpiration cools leaf surfaces

sometimes 10 to 15 degrees, by evaporative

cooling,

In the light of the above statements, choose the

most appropriate answer from the options given

below

(1) Statement 1 is incorrect but Statement 11
IS correct.

(2) Both Statement 1 and Statement Il are
correct.

(3) Both Statement 1 and Statement 11 are
incorrect, :

(4) Statement I is correct but Statement 1115
Incorrect.

The historic Convention on Biological Diversity,
“The Earth Summit’ was held in Rio de Janewro
in the vear :

(1y 2002 (2) 1985

(3) 1992 (4) 1986

In gene gun method used to introduce alien DNA
into host cells, microparticles of
metal are used.

(1) Silver (2) Copper
(3) Zinc (4) Tungsten or gold

Movement and accumulation of 10ns across a
membrane against their concentration gradient
can be explained by

(1) Active Transport

(2) Osmosis

(3) Facilitated Diffusion
(4) Passive Transport

126

127

128

129 Axile placentation is observe
(1) China rose, Petuma a
(2) Mustard, Cucumber

(3) China rose. Beang™ang

(4) Tomato, Dianthu$,é id P

130

Identify the cor
A. Detrivores orm fragmentation.

B. The humus 1¥®firther degraded by some
[ » duging mineralization.

uble inorganic nutrients go down
hevsoil and get precipitated by a
5 called leaching.

e detritus food chain begins with hiving
anisms.

Earthworms break down detritus into
smaller particles by a process called
catabolism. |
Choose the correct answer from the options
given below . )

(1) D.E, Aonly (2) A.B, C only

(3) B, C, D only (4) C. D. E only
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12§ M Az A M E
F0 | - amrardd 8 39 99 TF AEA A F
=eq % AA & 130 @1 Fa T2 T B
Fq 1] - armaataa ofiaem F 210 aresEaa g
"qaEl & avi-aw 10-15 =@ 2= &

I 9 % famg 14, 9 23 fasea 8 | @
AT g

(1) ®g3 1 m9a ¥ 9= = 1 &4 2 \
(2) =3 1 s =@ 1 =41 960 )

(3) Fg3 | o7 93 11 240 Ted ¥
(4) = 1 581 & 90 F94 11

126 & fataas g ofFefas ogeq il
fe foafray & fsm @i o
(1) 2002

127

EGEMR LR

(1) \ (2)

(3) (4)

AT
T g1 &l

128 qIT ®iZAl UAHAT & [aEa ATEAl &l

AT vHg B F fE@ Eas BTO =mEn & Al

129

el e fEas T A A@aa k7
(1) wzra, Mzl s g

(2) w\TEl, @ e s

(3) wzEs, 44 3T Hie

(4) Wz, sugy AT §27

130 A FuAl & gEaia0

A, ¥arETETh Fon & afEa w1 K

B. &% gea drams ar g o sius smfea
g & e mirieoo &6 amen &)

C. o gaasie wadfas 9us g2 9 A g
A ¥ a3l sraEita § oaa B P Feres sed
4

D. 39Tz @ gEen Afad dal & e w2

E. %930 $UTE & @Witd &1 w2 & 4 456 20
¥ oA ooaga #ed ¥

dra g o fawed § & 7 TET g

(1) #aa D. E. A (2) &Fa A, B, C
(3) Fm@ B.C, D ) &= C, D, E
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10 Among eskanotes, rephoanan of DNA tales 130 gfalz 9 g g, w0 ufivpfus wa elm 2

Mace i - (1) Gy Saun (2) UM e
V1) G phas (&) M phase (1) um e (1) G, e
1 N phase (4) vy phase

132 9 o) wum Bl omd B
- g : LOE s ot W onfmress v W
Semtement 1 Endarch and exarch are the womms | - sumfremes Rl [®eh 3% T

often wxed for desonbing the positon of

grral o s sge ) Rafly & ool ey s

ey Avhem in the plant dody. f&m av b
Samt B - aarch condRion & the most T |1 SRTREES g3 qen=aa: gea= m g
common feature of the roat svstom, t
In the light of the abowve statoments. choose the Jogw sudl & fagu o 99 B fagdsa W g oan
correct ancwer from the ophons given helow st gi
(1) Santement 1 s inoommect but Statement 1l (1) ¥93 | mda b avs w0kl 5a b
" Tac

(2) w41 1 ale sw= 1 29w k)

< “M Stnteencat 1 and Statement N arc (3) w1 olit w@d W swe ¥
(%) Both Statement 1 and Statement 11 arc (4) W 180§ atQ NI s ¥y
fal. ,
14) Swmtement | s correct bul Statement 11 s = I@ﬁ!ﬁﬁﬁﬂﬁ_ﬁl_w T ¥ 7 : _
falsc. (1) = Aitms o A U Ube AR B gwifaq
B Kl
133 The phenomenon of plowtropism refers 10 (2) (wHA = & Tgd B udet (g fawea) o)
(1) moscthantwogencsafiectnga single character WitEla M oe wew AE At e Fea
{=) presence of several alicles of a singie gene S, BT L
comtrolling a single crossover. (3) =2 uewl # anfiafa, g@E B D FH vs vae
{3) preseacce of two alleles, cach of the two AuY @ Mdftaa s &
14) awsngic gene affecting multiple phenatypic | A uwTaA m‘ﬁﬂ g
CXJITESION,

134 w}ﬂtﬂn‘ufm;‘:muﬁa:;‘r“ﬁ 134 Wﬁﬁm%ﬁmziqm )

amemg the followmg :
1) Fguisetum and Salvinia, (1) serdres sht gredifrar
s pon, (2) wrgsIgiEgy st fasdtden

(2) Lycopadium and Selaginsl
(3) Selaginells and ! ﬁ" (3) Fadalider st st
fuimi (4) wEzT st adfra

i4) Psiotum and
One 15 labelled | 135 19 @1 &u+ g ™ ¥ 0s Pvaam saa A 2 o
J the other is labelled as 7o W R T
Rrmams A A 9yaers W gwi arfear o
“late wood has fewer xylary e meEH @ o ¥
narrow vessels, ,
tglind S =s | vz #rm R ufédl o s w9 fEashe aa 0
C Cambaumn s less sctive in winlers, L
of the ubove stmements, choose the :Twﬁﬁwﬁ.ﬁfhﬁﬂﬁfﬂﬁﬁnu H HE
answor from the options given below : :
A s false but B s true. (1) Asm@® atsg R ad ¥

foth A and K arc true and R s the correct (2) Aot Ra G ¥ ot R, A @) aé)
caplanation of A b

3 Hlﬂﬂwmhmltilﬂm'ﬂul (3) A oht R &l wea B ues R, A ) o)
convect explanation of A R

{4) A = true bt ) s fulse,

(4) A uwd ¥ utg R s ¥
Go6_HindirLoglish | 30

| Contd...



Botany : Section-B (€), No. 136 to 150)

Identify the correct statements

A. Lenticels are the lens-shaped openings
permitting the exchange of gases.

B. Bark formed early in the season is called
hard bark.

C. Bark 15 a technical term that refers to all
lissues exterior to vascular cambium

D. Bark refers to periderm and secondary
phloem.

E. Phellogen is single-layered in thickness.

Choose the correct answer from the options given
below :

(1) B and C only

(2) B. C and E only

(3) A and D only

(4) A, B and D only

Match List I with List IT :
List 1 List 11

A. M Phase . Protemns are
synthesized

B. G, Phase [I. Inactive phase

C. Quiescent I1l. Interval between

slage mitosis and

inthation of DNA
replication

D. G, Phase IV. Eguational
division

Choose the correct answer from the opti n

below :

(1) A-ll, B-1V, C-1, D-111

(2) A-lIL B-11, C-1V, D-|

(3) A-IV. B-ll, C-I, D-11l

(4) A-IV, B-1, C-11, D-111

Given below are two i 15 labelled

as Assertion A u er 15 labelled as

Reason R

Assertion A Iy gymnosperms the

pollen Ins released from the

mIcros |un’m1d carried by air currents.

R n currents carry the pollen grains

1o h of the archegonia where the male

3 discharged and pollen tube 15 not

e light of the above statements, choose the
correct answer from the options given below :
1) A is false but R is true.
(2) Both A and R are true and R is the correct
explanation of A
(3) Both A and R are true but R 1s NOT the
correct explanation of A,
(4) A is truc but R is false.

6_Hindit+inglish |

136 = 5ot =1 et -

A, TS 9 % g 5 = A E e om
aver wm= w5 K

dram @ grrew 4 N R OB 47 S BRI
wrn X
C. == T A v b o g

E
waﬁm%mﬁﬁm’rﬁ\@

B.

D. =@ ofrad A T2 =naa 5 0
LG A
E. ®rrax o= & 0% 973 B

a1 PG NS TAmes 4 8w T

(1) == B &7 C <
(2) === B.C s7 E
(3) 37 A
(4) ®a4 A. B .
137 Fh1% e BAR
: = [
A. I. === = q5aw
B-m . =G saem
i [l. === s
K Prorr iy
.00 FEapEaET
T HTS TH B A9
e B Ei
D. G, sF=n V. == FEerad

138

49 23 T3 Famedl § & 96 TET g0 -

(1) A-IL B-IV, C-L. D-Il

(2) A-Il, B-II, C-IV. D-1

(3) A-IV. B-IL. C-L D-IIl

(4) A-IV, B-L. C-11, D-IlI

4 21 3uA 28 T ¥ - Us Foaaes e A oA

U E™ R &

RTIE 99 A - SEEFETE 99 F T 59 g

o 8 g 5 X Al 3y 9o oz @ 9™

ama ¥

™™ R : 9 910 TOF B9 B B B g" 91

A wh b, A W gs o B W ¥ e aom

A1 &1 AR T8 S

ITF FUAT $ 529 |, A9 A9 ™ fawew 9§ WA

At g

(1) A w5@ % grg R 54 k)

(2) AT Rz o3 & AT R, A 21 581 =g
ki

(3) A TR &3 kw1 R, A A1 56 =
T8 ¥

(4) A w9 R grg R %54 ¥
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1y Mastch List § with Lixt 1

141

142

G6_HindirEnglish |

Lima 1 Liat 11
A I . Symthesis of auvan
B Jiw 1. Component of
pitrale resloctase
C. Boron 1. Activator of catalase

Cell elongation

and differentiation
hovse the comact answer fram the aptions given
delow

(1) AJL BN, CL DA

(=)} AJIL BIL C4L DY

(3) AJL B-IL CIV. DA

(4)  AJIL Bl CIV, DA

Which of the following combinabions 1s required
tor chermosmosis?

(1) proton pump. clectron gradient, NADP
syathasc

membrane, prolon pump. proton gradient,
ATP synthase

membranc. proton pump, proton gradient,
NADP svnthase

proton pump, clectron gradient. ATP
svnithase

Mam sieps m the formatnion of Recombinant

DNA are given below. Arrange these steps in a

correct sequence.

A_ Inseruon of recombinam DNA into the host
cell

B. Cuming of DNA a1 specific location, by
TESINiCtion enzyme.

C. 1Isolation of desired DNA fragment

D. Amplification of gene of interest using PCR.

Choose the cormect answer from the options given

below -

D Mohbhienom TV

(<)
(3

=)

(1) B.D . A.C (2) BEDA

G) GAB,D ﬁj EEDh
“’hn:l!i:m:nl'ﬁtf .ﬂl:mcnls s NOT
correct?

(1) The amount toxic substances of

:nduﬂrﬁ.l wasle waler increases in the
ANISMS 21 SucCessive trophic levels.

W‘* o-organisms involved in

ation of organic matter in a

« ygen causing the death of aquatic
OfEANISIMS.

) Algal blooms caused by excess of organic
maler in water improve water quality and
promote fisheries.

Water hyacinth grows abundantly in
cutrophic waler bodies and leads to an
imbalance in the ecosystem dynamics of
the water body.

(4)

1x0

140

141

142

32

o 1 g 1 e g @b

Ul T 11
A, A . onfwm = desimm
B s 1. TRe REaRA & vy
C. =1 I, %o & ufwumion
D. ey IV. ®ifdmm &1 saa

At Fntaa
e R faee A A Wl o gqfo g
(1) A-ll B-IV, C-1, D-IllI
2) A-llL B, C-l, D-1V
(3) A-ll, B-lll, C-1V, D-I
(4) A-lll, B-l, C-1V, D-I

Freteia 3 | SW-1 9gaed oEEtiE goen
& foo ammasgs 7

(1) W39 =, soagE wavEr, 9.0 9 [4en
(2) e, WiOE, W2 gauran, oA d fay
(3) [oeet, W2 U, W2 georan, vA.w E g ey
(4) WZF I, e gaean, oA d fhae

gFgTS 1040 & i & g aw A R om

t) 3% 86 B9 § =attug sifao)

A.  QTUT TS H QAT LU0 1 S

B. wima=/H v=argy Zr0 EuAn &) s fafire e
g7 &1l

C. aifea €oAu @ve & gas &1

D. fi@amt & IwEm &L gU gifsa A @
CIEDE]

dm 3 A fawedt § | @8 gEe giao

() B,D,A,C (2) B,C.D.A

3) CCA,B,.D (4 C,B.D.A

Frefafeas 9 4 #1999 sg9 76 98 R

(1) ol smidre 9@ o g0 fade gael & A
® T 9N @ 9T ofal ° aerdt sl 2

(2) afea 7@ @ wgfta sengra ® Afas gzl @
HAIZA BIA AW GgEEoia FAfas o
#d & forad ordta ol @1 g 6 ond E

(3) wa A sfefmm Wfas gmal & oo da
wepZA g & o w@ & i @l aere aan o
afrt wodaTEA @) et Ao

(4) gatfer srengra A @ @ e gin o
wengr o aifers ey o aTeeert dar wlar
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Which of the following statements are correct
about Klinelelier’s Syndrome?

A. This disorder was first described by
Langdon Down (1866).

B. Such an individual has overall masculine
development. However, the feminine
development is also expressed

C. The affected individual is short statured.

D. Physical, psychomotor and mental
development is retarded

E. Such individuals are sterile.

Choose the correct answer from the options
given below :

(1) A and E only A and B only

(3) C and D only B and E only

Match List I with List 11 :

(2)
(4)

List | List 11
(Interaction) (Species A and B)
A. Mutualism I. +HA) O(B)
B. Commensalism 1. —{A). O(B)
C. Amensalism Il1l. +{A), «B)
D. Parasitism IV. +H(A), +(B)
Choose the correct answer from the options
given below :
(1) A-Il, B-1, C-IV, D-ll
(2) A-IV. B-ll, C-1, D-11l
(3) A-IV, B-I, C-11. D-lNl
(4) A-1V, B-l1l, C-1, D-lI

ed
as

Given below are two statements - O 15
as Assertion A and the otheggis |
Reason R

Assertion A : A tlower | d as modified
shoot wherein the shoot eristem changes
of the shoot gets

to floral meristem.
Reason R : In
condensed to produtgdifferent floral appendages

laterally at stgcessive nodes instead of leaves.
In the hg ¢ :tow statements, choose the
cor er trom the options given below :
(1 is falSe but R 1s true.
A and R are true and R 1s the correct
xplanation of A
(B) Both A and R are true but R is NOT the
correct explanation of A
(4) A is true but R 15 false.

How many different proteins does the ribosome
consist of?
(1) 20
(3) 60

(2) 80
(4) 40

G6_Hindi+English |

143

144

145

146

AL e % fres d B maw o0 ¥

A. TH PREIT B T AT A 2% €50 (| B66)
A e om

B. ms mfE 9 aEworaar v qtraaa o b

A Sz T o @ e X

N

C. wuitas = o7 s = 571 5
1 4

4ma fra wg famedt 2 8 WO IAT 9
() S=AAHATE (2) ¢ .
(4) 3 iITE

(3) BEw C A7 D

L ={A), (XB)
1] {A), (B)
M. <Al <+B)
_ V. +(A) HB)
T faseq & 5 ®h 39T g0
A-l11, B-1, C-IV, D-II
) A-IV, B-Il, C-1. D-III
( A-1V, B-1, C-11, D-I11
(4) A-1V, B-1ll, C-I. D-II

SICEE VERECRCE SRR o L S

Fu s R E

FTTE F9 A UF N B =G 99 B A9 §

qroaTd T e & s unE Sies 8 giade

quirg sfres | & A d

F R : 9% & 94 HiAG 51S1 IGET 99 9F

gl % TA fafter gyde Sum oe= s

g Al & 5ol §, A 3 g fasei 9 8 wA

34t g -

(1) A8 & 9tdq R &3 %)

(2) Adt R s ¥ ot R A& 50 =3
Rl

(3) A 3T R @ 51 & 9t R. A &1 56 e
76 )

(4) A =gt grg R sma by

RECICILERE DR RV R R CC i AG A

(1) 20 (2) 30

(3) 60 (4) 40
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147

Mareh List 1 with List 11 ¢
List 1 List 11
A Coheson 1 AMaore attrachion in
hiquad phase
B Adbesion .  Mutual attraction
among water
molecules
L. Surface M. Water loss n
tenRsKon hquad phase
D. Guttaton IV,  Attracthion towards

polar surfaces

Choose the correct answer from the options
given below -

(1) AL B-L GV, DA

(2) AL B-IV. G4 DA

(3) AV, BIL CHL D4

(4) AJIL Bl C4V, DI

148 Match List 1 with List 11 :

149

Last | List 11
A Onadatrve l. Citrate
decarboxylanion svnthase
B. Ghoolysis 1. Pyruvate
dehydrogenase
C. Oxdative M. Electron
phosphory lation transport system
D. Tncarboxylic V. EMP pathway
acid cycle

Choose the correct answer from the options given
helow :

(1) A-L B-IV, C-II1, Dl

(2) A-IL BV, G-I D-I

(3) Al BV, C-L D-1II

(4) A-IL B-l, C-II, D-IV

Mclonzte mhibits the growth _of pathogenic
bacieria by wnhibiting the acuvity of

1"'
ermw :
suse's ‘Competitive Exclusion
at two closely related species
delinitely and competitively inferior one
: eliminated evenually.
ot Il - In carmivores are more
rsely affecied by competition than

the light of the above sutements, choose the
correct gnswer {rom the options given below :
(1) M—Hllﬁmnmmhmﬂhumn 1"

(2) B&—ummmmmm

(3) miﬁnmulmdﬂuu-m Il are
(4) nﬁmmmmmmn 1 is

; r
- N
s ' - . -ty

147

148

149

150

U R SR TR RO i Firad

wh | UL
A, HYTH |, e W s
aftrs s
B M . ot ol & A

qUNT HIHHY]
C. y& T I, wa arEen o @7 &) ek
. hﬁ’ﬂl’ﬂ V. qﬂtlﬂﬁﬂiT}ﬂl ATTeRT
i R P ¥ A @ sEr gfim

(1) A-ll, B-1, C-1V, D-1II
(2) A-ll, B-1V, C-1, D-III

(3) A-1V, B-II, C-1, D-1

(4) A-llL, B-l, C-1V, D-1I

1 & w1 &g gifea #ifao
T | T 11

A, i > fire fHam
HEARIE GEIE]

B. wrEmaetm 1. ugEdz fEEEiiha

C. omsirfa lIl. zToe afae a=
L EC EIE]

D. @@tttz V. 3omdl gftoy
e O

A fod M fawel W @ @ STt g
(1) A-Il, B-1V, C-lII, D-I
(2) A-IIL, B-1V, C-11, D-I
(3) A-Il, B-IV, C-1, D-1I
(4) A-IIl, B-I, C-II, D-IV

ez frEa) aibam & ewt, WrEns dams

# g5 B TEm k7

(1) sEAEZTTAw

(2) =mwhfs ezt
(3) wAEES

(4) 9

LA UC RO D
g | ;A F wdl sgad fam F HET U

Bl ow| & o wul & amh 2 Py g

wferdl oFa ®@ o@ wu-"yg a8 1w wwdr o
widt wu @ afem wfy sraa: fererer &) ot 2
#9411 : wurerran s &) aara e
[yl & snEga sius awfaa e ¥
sudad wuAt & wed A, 9 5 o fgaen 0 o o)
Fot yf

(1) &9 I 7o & sy w11 g 3

(2) waA I 3it w11 2w &)

(3) w1 ot wmam 11 @ s ¥

(1) w1 Luh & vt &qq 11 s &

a1

g
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pology : Section-A (). No. 151 to 185)

_;.,__-__ ‘Match List I with List I1.

. List 1 List 11
‘A.  Gene ‘a’ I.  P-galactosidase
B. Gene‘y’ II. Transacetylase
C Gene ‘1’ Ill. Permease
" D. Gene ‘7 IV. Repressor protein

Chclose the correct answer from the options
below:
(1) A-IlI, B-I, C-IV. D-1I
@) AL, B-I, C-IV, D-1li
L (3) A-Il, B-IMI, C-IV, D-I
(4) A-l, B-1V, C-I, D-ll

Given below are two statements:

- Statement I: Ligaments are dense irregular
~ tissue.
~ Statement II: Cartilage is dense regular tissue.
In the light of the above statements, choose the
‘correct answer from the options given below:
= (1) Statement I is false but Statement I1 is true.
* (2) Both Statement I and Statement I1 are true.
(3) Both Statement I and Statement II are
false.
{4] Statement I is true but Statement I1 is false.

.'_';_5.___1_ . Given below are two statements: one is labelled
as Assertion A and the other is labelled as
~ Reason R.

~ Assertion A: Amniocentesis for
determination is one of the strategié
Reproductive and Child Health Care Progrs
Rumn R: Ban on amniocentesis cf

lnt:rr.asmg menace of female foetici
~ In the light of the above statements|
correct answer from the opti

10
(1) A is false but R is true
~ (2) Both Aand R are correct
~ explanation of A. z ?ﬁﬁ

a1
182
—

j=

5C

(3) Both A and R ax R is NOT the
correct explan@

~(4) A s true but R is (alse.
154 Match List Iwith List 1L |
i - List § List 11
wpe of Joint) {Fuum:l between)
A, ilaRinous Between flat
pIn skull bones
BalPand 1. Between adjacent
socket Joint vertebrae in

vertebral column
Between carpal and
metacarpal of thumb
Between Humerus
and Pectoral girdle
Chmse the correct answer from the options
~ given below:

(1) A-I1, B-1V, C-II1, DI

(2) A-llL, B, C-1I, D-IV

‘:3) A-Il, B-1V, C-I, D-III

\ +  Fibrous Joint
- D. Saddle Joint

L1
V.

(4) A-l, B-lv, C-1lI, D-Il
indigF nolish |

35

151

152

153

154

I 71 2

4

I % =3 gaia 11
= 11

p-fAwzmriEa
[I. zZEvdrzad
. wrdmoa
V. zo=sra ueZm

XN
X

¢

L

ﬂii*‘

™
w
7=
-
EIn

o 7 e § 8 w0 39T @
A-ll, B-1, C-IV, D-NI

(2) Al B-L, C-IV, D-III
(3) A-II, B C-IV, D-I
(4) A-II, B-IV, C-I, D-1I
A I 5 =1 # =

™
A
B.
C.
D.
I
(1)

|
1
o famea 4 7R

=53 11 5= &)
n==%
f 11 === ¥
tﬁfﬁmﬂmtl

72 ™ - us Jivmm A gmo w1
A: # FEion $ U s=E9E 994 vl a1

ZEYH HAHS 31 U gie B

R: 39995 97 Wioad ¥%d ¥ 91&1 §U &0

% g B TEa 2

U4 BT S W H, A9 20 70 faeed § &
A I @ 999 B

(1) Aysat asT RET L

(2) Awd R 53 % v R, A & 561 =5ven 3
(3) Avd R 51 & 9 R, A 31 591 =3mean 9€1

4
(4) Aw=t &% R sm3 &)
T 1= w13 37 guea s
Ll |
(771 =1 w=n) & = v Jn %)
A. INTE-gF . a9 &9 st
|y % T
B. sgs &imm1 [l =3saes ¥ o
"y Fmzadl sarEma
F 9
C. i sy M. 3 & HHa T
HeTEMNE & W
D. #sa wfy IV. @"E U4 3
Y@ & g

9 fau o faeed A A 9E ST & 999 S0
(1) A-ll, B-1v, C-lI, D-1
(2) A-I B-I, C-IlI, DIV
(3) A-ll, B-1v, C-1, D-II
(4) A-l, B-1V, C-IlI, D-11
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I8 Lanven Bodow are Two <ipteiments
satement U Vs detorens receives a doct fom
wenimal vesacle and opens ainto urcthra as the
oacelaton it
Saatement 11 The cavinn of the corvn s eallsd
corvical canal which along with vagina Torms
Marth cpnal
In the fght of the above satements. choase the
correct answer from the oy given helow
(1 Ssrement 1 incorrect but Statement 1 s

=

(21 Bah Samrement [ and Statement 11 arc

e,

U Bath Ntatemoent 1 and Statement 11 are
tabae

(4) Smrement 1 comeet but Statement 1 s
fab

1% m:ntd"ﬂtfﬂhn%mhnmmnm
serve the purpose of carhy diagnosts of a disease
for i carhy eatment”

(1) Eanvme Linked Immuno-Sorbent Assay
(ELISA) wechmque

{=) Recombinant DNA Technology

{3) Serum and Unnc analvsis

14} Polymerase Chain Reaction (PCR)

IS VWihich onc of the following common sexually
transmatied discases 1s completely curable when
dewecied carh and teated properh?

(1) HIV Infection (2) Genital herpes

(4) Hepatiis-B

1s not a cloning
(2) BAC

(3) YAC (4) pBR3X2
159 Match List | with List IL __

e answer from the

158

156

157

160

4 2 e g omg N

wed 1 o e N uaw ikl wre wo )
afvt gt o waefia mivh & w0 gEo R
s 11 uften &) o & afdwa om wea b o
aify % we oA ol b

aoya auHl & gmy A, N9 R g Rl oo
IAT W 9T HN)

(1) @1 1 yu@ k Afss s 1w b

(2) o= w1 udE 1 owa b

(3) == w1 v 1 swa

(4) wws | 5@ ¢ s s 11 am ¥

= d 8 Bl aads v O & urife auan 4
e wrifvs e o owarf) a8k 7

(1) daEm seaw ofqren mMus smsgE (oeg )
(2) g o g

(3) &R vd g3 fasdgo

(4) GemLE o4 oy (fdem) awds

s % 88 8§ 5T a9 dafta I w afs aeh
mmmﬁnmmﬁm %1 9 dl goiq

s @ owwa b
() TR A (2) e afd
N gams (4) apama-B
§ B ¥ @ @ R e w6 b7
(1) v (2) BAC
(3) YAC (4) pBR322
T 1 & gh 10 F wy gafaa a0
Lol | 11
A dEs . 3%
B. o 1. %
C. TTAUe Il.. @1 uiy
D. uég V. sr=mam

A fam o fameat A & wh 39T & guA FU
(1) A-IV, B-II, C-lII, D-I
(2) A-IV, B-lII, C-II, D-I
(3) A-IIL, B-II, C-1V, D-I
(4) A-Il, B-IV, C-1, D-11I

=1 A & 21 A s fafems a3 & w8 5= T

¥

A, qAHE

B. saden afmn

C. AR

D. Tiwn wftag

E. 9U@dEs

fr=r fasedl @ wam ofm aw @ aaq @0
(1) WH,DWE{E} Hae B ud D
(3) ¥a@ A, CUd E (4) a@ A vd D

| Contd...
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Mateh List I with List 11,

- List I List 11

A, Taenla I.  Nephridia

B. Paramoecium  11.  Contractile vacuole
C. Periplaneta I, Flame cells

D. Pheretima IV. Urecose gland

'hw 2 the correct answer from the options give
(1) A-Il, B-I, C-1V, D-1f
(2) A-l, B-II, C-Ill, D-IV
(3) A-l, B-II, C-1V, D111
(4) Al B-II, C-IV, D-I

62 Once the undigested and unabsorbed substances
mlerlhe caecum, their backflow is prevented by-
(1) Pyloric sphincter

(2) Sphincter of Oddi

{3) lleo - caecal valve

{4} Giastro - oesophageal sphincter

i,'*-Matl:h List I with List Il with respect to human

%91"

List 1 List 11

¥ “ﬂ Fovea I.  Visible coloured portion
g of eye that regulates

1 diameter of pupil.

'B._ Iris I[I. External layer of eye

formed of dense

connective tissue.
Point of greatest visual
acuity or resolutio

~ C. Blind spot 1IL.

D. Sclera IV. Point where optic n
leaves the eveball
photoreceptor cell

oy are absent.

Choose the correct answer from the

“given below:

(1) A-II, B-1, C-llI, D-IV
(2) A-lI, B-1, C-1Vv,

i D-
- (3) A-lV, B-l1I, C-II,
. (4 AL BV, C
164 Mnlch List I with
List I1
(inter i & (Name of Interaction)

l. Competition

. Brood
LB I parasitism
a@ and root of a higher 11I. Mutualism
Pple Mycorrtizae
DA cattle egret and
8 a Cattle in a field
~ Choose the correct answer from the options
given below:
(1) A-ll, B-ll, C-l, D-1V
~ (2) AL B-II, C-1lI, D-IV
(3) AL, B-11, C-1V, D-11I
(4) A-lL, B-1V, C-1, D-II

G6_Hindi+English |
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IV. Commensalism

37

161

162

163

164

| 7 1 % avs gl A
]}
e - (-
B, ety [I. @FTa9T TauaTh
{.. afreazr I, e wiarsn
wofAT IV. g 1

f=rl=! fepprdl @ Wl 2917 B A B0
(1) A, B-1, C-IV, D-1ll
(2) A-l, B, C-lHI, D-IV
(3) AL B-II, C-IV, D-M1
(4) AL, BN, C-IV, D-I

2"

WA ATA U FAEIE = GrERa L 16

¥ T T wiaEms T T ¥

(1) umaits F=T PN

(2) = s

(3) 3o -

(4) w12t — uEm

qHE A9 B 1 7= I % =g 5F

A e

\ =0

A. L. %ami;:::lh?ﬁﬁ
o A Eo1c
= b

& [I. == & *%d 9 =1 999
HOTAT =A% B 391
T X

. sufag ML aﬁmgﬁﬁmm

D. == V.
?:?ﬁazsmmt
T % e H§99
Sy FsiEa g ¥

g u o fawwal § ® W IO B w99 B0
(1) A-IL, B-l, C-III, D-IV
(2) A-II, B-I, C-1V, D-II
(3) A-IV, B-IIl, C-II. D-I
(4) A-L B-1V, C-IIL, D-II

wlﬁ@utmmm

T I
{:ﬂmﬁhﬁm} (w=av=ufEm +1 9m)
W EAaE s A E 1w

!hmmi’rr
= qrafaa

gggpr}w?

3)
(4)
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- What L “‘“ APMTPTRENR: WYY e

vy Sl repvinctive Cuvele”

A b wwpemant mamrmb Cveheal changes
vy Spraberow am calle! et (voke

R Ve wwmaren| cvcl b w puberny ang
o sl e

L Lef of menatmestior may b inilyowting o

D Uwoln mesarrpanion vatenda hetween
meemarchy B T

Ol e mont apprapriste answer from the

aptwrs, gover helow

i AT and! P omh

2 Al D onh

(B A e B anh

W A Band  onh

Cerven Bebow ane two statemments
Nwtewment | | ow tempemature preacsves the
mryie w3 Wwmporenh mactive atate whereas
hgh tempersture destrons enPvmalc ARSIVt
heomew protese gy deoatured By heat
Nistement T1: When the inhibitor closely
resonthien fhw sathatrate 0 molecular aoucture
et mbibits the activin of the ensvme, @t s
bnown 3 oty inhahitor

In the lighe of e abhost satements, choose the
ourrec! anvwer from the options given '
(1) Namtemment 1 o falsc but

AL

166

P A 8w e wm & Pys o s 0

R |

A by wde wen® w8 s kDo
Wredd &) rew we s Y

R wwn Sgwe 8 @ewmiv uy ys ot
g and b

¢ wgwe @ syl anim # qus )

D e wgws kR A whghh as ooy

% g v Peedl 4 A e | T B oauE

(h sm A CWED

(2) ¥m ATD
® ad ®q ° fafrgy

(3) ¥ ATEB
d) smABWEC
b wafs g aromn v
&1 2 k| w@i wun 4 oy

Hou® A anfvas |5eaAn o fenaar
weran v & ol durgm @ hashe o
st b @ @ vivwutes gmwe w0

wudl & g 4 A fBu o freen 0 oan
T W 9uA &0
(1) w1 swm b #fe s 1 g 2
(2) o w1 od 1l s ¥
(3) ot wem I vd 11 oweg &)
(4) wea | 51 ¥ @fea w0 11 sma b

T we & wuwl ¥ arfra wefafa of grd

(1) mageda  (2) e
(3) whaiz (4) ezt

A 1l & wia gifem w0
w11
L & oA e fai

I, du faiy

. swalman faiy
IV. ugfas faiu
Hawh aac @ quq a0
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List | with List 11

~ List | List 11
~ (Cellw) (Secretion)
r’.h e cells 1. Mucus
Cioblet cells 11 Bile juice
5. Oxyntic cells [1l. Proenzyme pepsinogen
Htplliﬁ cells IV, HC|and intrinsic factor
for absorption of
vitamin B,
the correct answer from the options

| hiow

A-ll, B-1V, C-1. D-11I
A-1V, B-111, C-II, D-I
A-ll, B-l. C-IN, D-IV
A-lll, B-1, C-IV, D-II

In 1llrllll:.'.l'l blood corpuscles, the HI'V undergoes
ication and produces progeny viruses?
Eosinophils (2) Ty cells
B-lymphocytes (4) Basnphils

capacity of lung is

[Il."'b‘r + ERV + TV

IRV + ERV

IRV + ERV + TV + RV

4} IRV + ERV + TV - RV

‘Given below are two statements:
‘Statement I: A protein is imagined as a line,

= 228 WEL“

"'Lr

€ ™~ T
il O

T

R

last amino acid (N-terminal)
‘Statement I1I: Adult human haemog _"-*
~consists of 4 subunits (two subunits T
~and two subunits of [ type.) ‘&

In the light of the above state the
‘eorrect answer from the Dp’li below:
fl) Statement 1 is false piit Statement 11 is true.

) Both statement 1 and Statément 11 are true.
| and S ent I1 are false.

‘SEtements: one is labelled
A angl the other is labelled as

Ass iz Endometrium is necessary for

implantation of blastocyst.

"»"\ : In the absence of fertilization, the
0 luteum degenerates that causes

inhgmmn of endometrium,

light of the above statements, choose the

et answer from the options given below:

1) A is false but R is true,

Both A and R are true and R is the correct

explanation of A.

(3) Both A and R are true but R is NOT the

~ correct explanation of A

(4) A is true but R is false.

(2

{-.
(

Indi+English |

the left end represented by first amino_acid | N
(ﬂstemmll) and the right end rcprcsent !

173

169 oM | %1 g 11 % avr gifeer w7
Tatreer) Dot
A. fox wfwwn | Een
B. ®nwess 1. T om
C. s . 7% ==
wfwmmt T
D. wiafrs V. s
wf

i 70 fmmed 1 3 R T

(1) A-fl. B-IV. C-I. D= Y
(Z) A-IV. B-M. C-IL.
(3) A-Il. B-L '

(4) A-Il, B-L

=@ |75 T2 B s s T 3 B v
mm%mmﬁfﬁf—mwm
o #TaR W& W (TA-=T) A=aa B0 b
w9 [l: 7555 I9s SAraaE 3 4 JTems v
@ o TR F s E T B S TwEs)
TgE A ¥ Ty 7 AR By o sl 8 wh
I B T BN

() sRlsmatdasrsA s

) svismIialdss

) Mswmlval s==a k)

4) s Rlsatassasmld s=3 b

ﬂ&tﬁm&&ﬁ! TS aeE A Y ET '™
R %)

WYEE Az BTRD § HT0 $ WO NG ST
yaas 5

™ R: FEs q 919% % &1 3
sl & fawd srw smET @ e § o b
9w U $ v ¥, 99 & g et § 8
I TR W TG S

(1) Asmsmtamsa Re|m by

(2) Awd R 59 ¥ 0 R, A 3w e b

(3) ;tqdnﬁﬂmtqun.aﬁaﬁm?ﬁ
[

(4) A 51 ¥ Afsa R sma b
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174

173

176

177

Select the cormect group/set of Australian
Marsupials exhibiting adaptive radiation.

(1} Lemur, Anteater, Woll

() Tasmaman woll, Bobcat, Marsupal mole
13} Numbat, Spatted cuscus, Fhving phalanger
(4} Mole. Flving squrrel. Tasmanian tiger cat

Match Last 1 with List 1L

List 1 List 11

Heroin . Effect on
cardiovascular system

[1. Slow down body function

1. Painkiller

IV, Interfere with transpon of
dopamine

Choase the correct answer from the options

grven below:

(1) AL B-IV, C-1. DI

(2) A-IL B-L C-IV, DI

(3) A-L B-IL G-I, D-IV

(4) A-IV, B, C-IL DI

A

B.
C.
D.

Marijuana
Cocame

Momphine

Maich List I with List IL

List 1 List 11
A. Rmgworm | Haemophilus influenzae
B. Filanasis [I.  Trichophyion
C. Malana L. Wuchereria bancrofii

D. Pneumonia V. Plasmodium vivax
Choose the correct answer from the options
given below:

(1) A-I, B-11, C-1V, D-1
(2) AL BIL CV, DA
(3) AL B, C-L, DIV
(4) A-lIL, B-IL, Crl,,D—’N'

Given below are two' ni:mcnts

Statement I: | Electrostatic precipitator is most
vnd:ly u.r.nd | thermal power plant.
‘Elm;ulm precipitator in
plant removes ionising radiations
of the above statements, choose the
answer from the options given

J

In

} Statement | incorrect but Statement 11 is
correct.

(2) Both Statement I and Statement Il are

correct.

(3) Both ﬂl@ul I and Statement 11 arc

{4) m

ﬂm but Statement 11 is
incorrect,

..

G6 Hindi+English |
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177

spged fafsoa Rart am sl o o
afl wqede @ A s

(1) emr, A, Wi

(2) aonfyard Nfym, dade, Bigueh ge

(3) T, uRATT HEHH, I BRI

(4) W@, e fewd, aenfag agm &

i | & 1 & sy gefea S0
o | wh 1
“UA firtgm . &% afem &9 97 gwig
B. #frgarn 1. sriied warl &
a0 BT
C. &b . =EfErs
D. WiHH IV sadiH & oftaes 0 i

i fEu o famea 9| 'R 9w & gaH w0

(1) A-IE BV, €1, D-11
(2) As=ll, B=l,.C-1V, D11l
(3) (A4, B-11, C-I11, D-1V
(4) A-IV, B-l1I, C-lI, D-I
g 1 & g 1 & @iy gafeaa &0
T T 1
A, forad . #mifeea seequ
B. wEafiefay . zZrEsiwEe
C. wafwm . geifrar dwreers
D. et V. wrowifagy arzday

44 fo o faweal A @ w8 SO & 99 @1
(1) A-Il, B-II, C-1V, D-I
(2) A-ll, B-1II, C-1V, D-]
(3) A-ll, B-lll, C-I, D-IV
(4) A-IN, B-1I, C-l, D-1V

ﬁﬁﬁﬂf&({ﬂqt:
ml:ﬁgﬂwﬂﬁﬂmﬂfh@ﬂq—qﬁm,h =g |
guam 4w e ¥

#aA 11: A feoge was o Aga s@dfua siaiiane
faft &1 weran §1

TR HeA & Wi § A R o faaed 0 oo w
I @AY HU |

(1) & 1 oo & afe wam 11 g 2

(2) & ®u= | od 11 5a ¥

(3) =l wym 1 wd 11 argw ¥

(4) w1 v ¥ o & 11 o 2



.,

Given below are statements: one is labelled as

Assertion A and the other is labelled as

Reason R.

Assertion A: Nephrons are of two types: Cortical

& Juxta medullary, based on their relative

position in cortex and medulla.

Reason R: Juxta medullary nephrons have short

loop of Henle whereas, cortical nephrons have

longer loop of Henle.

g' the light of the above statements, choose the

correct answer from the options given below:

(]) A is false but R is true.

'(2) Both A and R are true and R is the correct

~ explanation of A.

) Both A and R are true but R is NOT the
correct explanation of A.

" (4) A is true but R is false.

5

- Which of the following functions is carried out
by cytoskeleton in a cell?
- (1) Transportation
 (2) Nuclear division
.~ (3) Protein synthesis
~ (4) Motility

Broad palm with single palm crease is vi‘s'ih
a person suffering from- v

(1) Thalassemia

'@ Down's ydrome )

~ (3) Tumer’s syndrome

(49 Klinefelter’s syndromey| gb
)

181 Given below are two staiéménts:

Statement I: | E!'!thg.?-. the positively

charged DN i@with some negatively
| in # region called nucleoid.

t Il: InPeukaryotes, the negatively

Statement [ incorrect but Statement 11 is
true.
" Both Statement 1 and Statement 11 are
true.
Both Statement I and Statement 11 are
s false.
" (4) Statement I is correct but Statement I1 is

J | false.

_.’r G6_Hindi+English |
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178

180

181

ima 71 B A ¥ 0% e A Y gm0 T
R ¥

#i5ETa A: g7 3951 9752 T4 9@ o qug
it % gt 97 21 9H B A ¥ TFA gamm
o A i gFET

#PM R: ai=a 9191 gFAl 4 A b

o ¥ wats a5 0a FFEETA 4 AUagd

Qs T 2 :
& Bo 3 T °, 79
e 9T = 99T B

0

fefa qifta =i § v w30 & 919 9E) sUeT
& W & ?
(N deriien
(2) s faEm
AT fEm
AT oL 68

i UE R L S
I: WiSiEies 5 anes s S o
HEfyE oA § |i1g 9ust vs &9

yrafiE e s $ gl o fvest gl
& &

IHgT HUAl $ w1y °, A4 o o fawe 4 8 '@
ST B 99 B

h T/ 1 yma ¢ dfeT s 1184 B

Q) I w1 wE I 81 E

(3) =i w1 wa 1 swe #)

(4 ®@ 154 ¢ &1 3@ 1 owa B
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March List 1 with List 1L
List 1 List 11
A P-wave 1. Beginning of systole
B. Q- wawe Il. Repolansation of
venncles
C. QRS complex 111, Depolarisation of atria
D. T - wave V. Depolarisation of
ventnicles
Choose the correct answer from the options
sﬂm helow-
(1) AL B CHIL DIV
(=) AJIL B-l, G4V, DI
(3) AV B-ML CHL D4

(4) AL B-IV. G-, DN

Which of the following statements is correct?

(1} Algal Bloom decreases fish mortality

(2) Eutrophication refers to increase in
domestic sewage and waste water in lakes.

(3) Biomagnification refers to -increase in
concentranion of the toxicant at successive
trophic levels.

(4) Presence of large amount of nutrients in
water resincts ‘Algal Bloom®

Given below are two statements:

Statement I: RNA mutates at a faster rate.
Statement II: Viruses having RNA genome and
shorter life span mutate and evolve faster.
Inﬂ:chghlnfm:ahnvcmc?ams. choose the
mrrnulnswuﬁumﬂ:copﬁunsgmn below:
(1) Statement I false tentnllllsu-ue.

(2) Eﬂﬂl Stateme fd Statement I are
(3) Buﬂ: quAnd Statement II are
false

(4) S% 15 true but Statement H 1S

one of the following symbols represents
ing between relatives in human pedigree

182

183

184

185

b 1w ph 1% yifer w1

o | i 1
A. P-wm I, WHET & ATy
B. Q- alm 1, Fel @ aray
C. QRS ufing 11, oifera @ Rrgge
D. T-aMm V. Feral &1 Fayam

4 fRe o e F & oo & TuE s
(1) A-l, B-ll, C-lIl, D-1V
(2) A-lll, B-1, C-1V, D-lI
(3) A-1V, B-lll, C-lI, D-1
(43 A-ll, B-1V, C-I, D-111

e ¥ 8 39 wnEeT gE R

™ weged wefedl & 9 /@ Oaan ¥
ﬂiﬁwﬂ'ﬂ qﬁ@ Eﬁﬁﬁ ﬂl Wﬁﬁ Hel Fl 1{_'1]?;?:
g ST |

TG AT & Hed i 9 W 9T At
#1 gz 7 gfz # A= ¥

o § BB AT H qHl B e A yepes
& T B

(1)
(2)

3)

(4)

44 2 HoF faw o ¥

= 1: HTUAT HUETHd A1 T |/ Iafialda a1

{1

F4A [1: 3MUAT A= Ud 812 Sia- $ie g faam
drean & saftafda vd faafaa o &)

g BUdl & wHa °, e Gy v e g 9
wA I B GG FHU|

(1) s 1 @mw & AT a7 1 54 #)

(2) s F@ I vd 11 59 &1

(3) =+ ®q= [ ug 1 s\

(4) #7156 ¥ #@fa wu= 11 |

= A dsmae fagerae |5 @ ar wde e
& irg Ay @ Prefia s ¥ 7

(1 l.‘ _—0
.

==
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[ “" pology : Section-B (Q. No. 186 to 200)

,_,__“ The parts of human brain that helps in regulation
i _ of sexuval behaviour, expression of excitement,
pleasure. rage, fear ctc. are :

- (1) Corpus callosum and thalamus

(2) Limbic system & hypothalamus

(3) Corpora quadrigemina & hippocampus
(4) Brain stem & epithalamus

Match List I with List II.

List | List 11
A. Logistic I. Unlimited resource
growth availability condition
B. Exponential [l. Limited resource
growth availability condition
C. Expanding lII. The percent individuals
~ age pyramid of pre-reproductive

age is largest followed
by reproductive and
post reproductive

age groups

The percent individuals
of pre-reproductives

D. Stable age V.
pyramid

given below:

(1) A-II, B-1V, C-I1I, D-I

(2) A-ll, B-I, C-III, D-IV
A-I1, B-III, C-I, D-IV
A-11, B-IV, C-I,

(3)
(4)
Which of the ﬁ)%ﬁ ements are correct?
A. An excessi of body fluid from the
bod itchg oft osmoreceptors.
B A ilitates water reabsorption to
luresis.
F causes vasodilation.
H causes increase in blood pressure.
ADH is responsible for decrease in GFR.
hoose the correct answer from the options
¥ given below:
~ (1) C, D andE only
(2) A and B only
(3) B, C and D only
. (4) A, B and E only

G6_Hindi+English |
|

- and reproductive age
group are same
- Choose the correct answer from the 5

186 w3 wftas B 9 W@ As wn, Hen @
dfeenfe, gm, T, ¥ X 5 P e b

(1) =ria %#mem o4 4999
(2) Tafes @2 A sgaaees

(3) =roaro FETEAT A s
=

L. i
k3l

(4) =fers = A7 fagaas

187w 1% o0 11 5 = gifm w01
1

A. "ur-#3 gtz

L 2
B. wTamEt HETGA B
IUFEA B AT
Q_. T o
B e L el ARG EIGG
Fiasam w7 &
@ faa% a2 F9Es
od FAaT Ag T
K g £
. T amg V. 3794 1d FF7am
s g T & aiedl
F1 Widsddar 9=
it &

9 fou o fameat § 7 wh IOT B F99 U
(1) A-ll, B-1V, C-llI, D-1
(2) A-ll, B-1, C-lII. D-IV
(3) A-I, B-II, C-1. D-IV
(4) A-ll, B-1V, C-I, D-11I

frefafaa 9 4 39 8 597 g6 &7

A. it 9 s smifts 29 &1 5W
miEdl 1 4% BT T £ [

B. wdiug yawal 31 %4 & foe @ & gt
H g™ T R

C. uwoug Tt fammo s &)

D. vwiug & 7@ § qeEil sa 8

E. ufiug dAoeH § &0 % o s

49 o o e @ SfR I w1 TR s

(1) A C, DU E

(2) ¥a9 Avd B

(3) ¥ B, Cw@ D

(4) ¥ A, Bw@ E
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PR pdm the correct statements with reference 1
vhominatges
A Preaence of b mid-dorsal, solid and donhle
merve eond
B Presence of closed circulmon svaom
U Peesence of paired phanngeal gllshis
D Preaence of dorsal hoant
P Taploblsstic paesdocociomate animls.

Vhorse the correet answer from the aptons
grven helow

(1 O D oand ©oonk

e} A C and D onh

(3 Band C onh

4) B Dand I onh

Which of the following s characierste feature
ﬂfmmmldmwﬁnm“
(1) Presence of anal cercl

<) Mmhﬁmlnwlndmlml
) Pmnl'n-ln}hs

i4) Proesonce of sclenites

Coven below are two statements:
Swatement 1: Duning G, phase of cell cycle. the
cell s mewabolically mactive,

Statement I1: The centrosome undergoes

duplication during S phase of merphase,

In the light of the above statements, ¢ e the
_“htmfrmﬂwnpm ,gn‘m
helow:

(1) Semiement 1 15 incorrect but t 1l

s correcl
(2) Both Statement |

E- wmmdn.umrmum
Chiewne the correct answer from dwmim;

pven below: . 1
(1) Dand Eonly (2) A and D only
(3) Band Conly (4) C and D only

LN

G6_Hindi+English |
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192

atie) & wed O wld) mal W e iR

A g, S o el s oo R b
it o ufidarm ga A aafiabl

Co ool A gftaa weaim faal ) anfiai

D, 99 xra # uftafy

b Pefw, g2 pha ueh)

4 o o el o A ofim o o aaa T,
() ¥aa C,. D w I

() $TA A Cud D

(3) %am B ud C

(4) $7@ B, D vd E

190 P o A e 8 fmaze f) e fosaa & o

e R 7

(1) e & sfafs

(2) ’TF'{IT{H T &1 1 ud EE o
(3) 42 yEa suftafa

(@) ®o® A Iuitatd

"?fﬁﬁm&qmt:

w4 |: Sy g% & Gl] ey | HNYTH TqTTa
wq A faftera o &1

A 11: HZEm g #1 S g 8§ {50
k

mmaimﬂﬁ.%ﬁquﬂiﬁhﬁl q 8 7
AT H °999 FU|

(1) &9 1 5wd & e 4 11 53 2

(2) # w1 va Il &4 %1

(3) @l wyA 1 va 11 s ¥

(4) wga | 94 & @6 waa 11 swa 2

Pt A & e argtigs et % frasm oo

A, WH U4 AgH HAYYIY e B A0 10
B.  arurfa auad) 51 & Fraa

C. WH-9rA & a% & qmrg oo |

D. uftta @4 @ fowma)

B, emcdid. P & wfisar @) aaniz o

e fao no e o @ wh gw @ aa0 o
(1) &ad Dud . (2) &aw A vd D
(3) ﬁmﬂﬂ:ﬂﬂ (4) &ad C va D

| ( ‘ontd



hich one of the following is the sequence on
or nding coding steand, if the sequence on
RNA formed is as follows

I AUCGAUCGAUCGAUCGAUCG AUCE
AUCG 37

[ 3* ATCGATCOATCOATCGATCG
ATCGATCG 57

5' UAGCUAGCUAGCUAGCUA
GCUAGC UAGC ¥

3 UAGCUAGCUAGCUAGCTA
GCUAGCUAGC 5’

5' ATCGATCGATCGATCGATCG
ATCGATCG 3’

2 unique mammalian characteristics are:

(1) pinna, monocondylic skull and mammary
_ glands

(2) hairs, tympanic membrane and mammary

glands

hairs, pinna and mammary glands

hairs, pinna and indirect development

55 Which one of the following is NOT an advantage
--';f mbmedmg"-’

{l) It decreases the productivity of inbred
population, after continuous inbreeding.
It decreases homozygosity.

It exposes harmful recessive genes that are
eliminated by selection.

due to it.
6 Which of the following statements are ¢

(2) D and E only
(4) B and C only

rrect statements.

| ad formation is seen during Leptotene.
B, N\ Dlring Anaphase, the centromeres split and
A “Chromatids separate.
Terminalization takes place during
Pachytene.
D. Nucleolus; Golgi complex and ER are
- reformed during Telophase.
E. Crossing over lakes place between sister

chromatids of homologous chromosome.
*huusu the correct answer from the options
given below:
‘rl} B and E only (2) Aand C only
) Band Donly (4) A, Cand E only

Hindi+English |

“A. Basophils are most abundang
Basophils secrete hﬁta in and
~ heparin
e
~ response
- D. Basophils ha
'Choose the EI}I' swer from the options
given below:
d only
(3)
:" : %\ r

. total WBCs
Basophils are in m ammatory
P&hap&d nucleus
RE Basophlls nufocytes
() A
nly

D.

45

193 oz =% g1 mRNA %1 %7 93 frm mn %
5" AUCGAUCGAUCGAUCGAUCG AUCG
AUCG 3, 7a Pr=y d 5ifn 77 %1 39 =
?
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In cockroach, exerction is brought about by-
A. Phalhc gland B. Urecose gland

C. Nephrooytes D, Fat body

E.  Collatenal glands

Choose the correct answer from the options
given below:

(1) B and D only

(2) A and E only

(3) A. B and E only

(4) B, C and D only

Match List 1 with List I1.

List 1 List 11
A.  Mast cells 1. Cilated epithelium
B. Inner surface Il. Areolar

of bronchiole connective tissue
C. Blood I1l. Cuboidal epithelium
D. Tubular parts [V. specialised

of nephron connective tissue

Choose the correct answer from the options give
below:

(1) A-IL B-1V, C-11, D-1

(2) A-l, B-IL C-IV, D-II

(3) A-IL B-IL C-L, DIV

(4) A-II, B-1, C-IV, D-IM

Which of the following statements are correct

regarding skeletal muscle?

A. Muscle bundles are held together by
collagenous connective tissue layer called
fascicle. :

B. Sarcoplasmic reticulum of muscle fibre is
a store house of calcium ions.

C. Swnated appearance of skeletal muscle fibre

\is due to distribution pattern of actin and

myosin proleins.

M line is considered as functional unit of

contraction called sarcomere.

Choose the most appropriate answer from the

options given below:

(1) C and D only

(2) A, B and C only

(3) B and C only

(4) A, C and D only
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& @ owen ¥

A, % il B. giwm iy

C. wiargea D. @ fts

E. gews il

99 Ru 7o Resl o | Sfm I @ g e

(1) %aw B uwa D

(2) %am A g E

(3) %a@ A, Bud E

(4) ®am B, C 7@ D

T L& w1 & §y gafea w00
T 1 T 11

A. "R Sy, . gmrd sudgme

B. gsanfm & 1. ufmaeT d@arE
Hidii® qae D

C. TH 1. 9AT&HT IS

D. g&pai & V. fafdre darsh oo
AfereBTATT W

T fu o fawmeal § @ wh g9 & 999 s
(1) A-lI, B-1V, C-1I, D-1
(2) A-l, B-II, C-IV, D-III
(3) A-Il, B-Ill, C-1, D-IV
(4) A-Il, B-1, C-1V, D-III

@ Ut & fawg d @9 8 daa wh ¥

A. U @S Bt U Hdd B UTd H H
T ¥ fme duez &wd ¥

B. Ush dg &1 wrpTentond Terager bieaas sira
& WS TE B

C. @mm a9 & arfien Rame ofeea va g
gl & faaror wfoeg & & @ 2

D. UR @ & §Faq @l SAiEd HS G A
¥ fma aiftar @ ¥

19 fao o freeal o @ wER ot aw & aad 60

(1) %as Cud D

(2) =@ A, Bud C

(3) #%awm BwE C

(4) Fam A, Cwd D
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